

Income Tax

Professor Batchelder

Fall 2006


Table of Contents

6INTRODUCTION


10Gross Income and Compensation for Services


10I.
Introduction


10II.
Calculating Tax Liability


10III.
Statutory Provisions


10a.
General Rule -§61


11b.
Above the Line Deductions - §62


11c.
Below the Line Deductions/Standard Deduction - §63


11IV.
Form of Receipt/Compensation for Services


13FRINGE BENEFITS


13I.
Fringe benefits


13II.
§132 and fringes in general:


14III.
Meals and Lodging ( §119


15IV.
Parking and Transportation ( §132(a)(5) and (f)


15V.
No Additional Cost Services, Qualified Employed Discounts: §132(b), (c)


16VI.
Spousal benefits ( 132 and 274(m)(3)


17VII.
Property Transferred in Connection with the Performance of Services: §83


19Tax Expenditures


19I.
Tax expenditures in general


19II.
Tort Damages for nonphysical injury ( 104(a)(2)


19III.
Structuring government benefits


20IV.
Tax expenditures vs. Direct expenditures


21V.
Employer provided health insurance: §§ 105-106


21b.
§ 106: exclude the value of premiums


21c.
§ 105: amounts received


21d.
§ 213: medical care and expenses except cosmetic surgery


21f.
§162 (l)


21VI.
Health Insurance policy issues


23Imputed Income, Gifts and Bequests


23I.
Imputed Income


23II.
Business Gifts ( §102


23d.
Duberstein


24e.
Stanton


24h.
Current Law regarding gifts to Business Associates


24i.
Analysis for Business Associate Gifts:


25j.
Tips – Regulation §1.61-2(a)(1):


25III.
Prizes and Awards ( §74


25IV.
Personal Gifts (no mixed motive)


26V.
    Basis with Gifts : 1015(a) carryover Basis


26e.
“Lost Basis Rule” for gifts


27VI.
Basis in Bequests: §1014 stepped up basis


29Basis Recovery and Allocation


29I.
Recovery of Basis and Gains


29f.
“First in First Out Rule for stock - Reg. §1.1012-1(c)(1


29g.
§1016 ( adjusted basis:


29II.
Timing of Basis Recovery


29b.
Hort v. Commissioner


30c.
Fruit and Tree analogy:


31REALIZATION


31I.
Realization Requirement


31d.
Recognition of Gain or Loss - §1001(c):


31e.
§1001(a): sale or disposition of the property.


31f.
§121: home sale exclusion:


31II.
Windfall and Treasure Troves


31a.
Reg. 1.61-14(a)


31b.
Cessarini


32III.
Exercising dominion


32IV.
Securities and Dividends:


32a.
Eisner v. Macomber


32b.
§305 ( Stock dividends are NOT income


32d.
Cash Dividends: § 301


33V.
Realization Policy


35Annuities and Life Insurance


35I.
Annuities: §72


35c.
General Rule - §72(a):


35d.
Exclusion Ratio - §72(b):


35II.
Annuity policy


36III.
IRA/Roth IRA Equivalence


36IV.
Life Insurance: 101(a)(2)


39TRANSACTIONS INVOLVING BORROWED FUNDS


39II.
Borrowed vs. Stolen funds


39c.
Collins Embezzled funds ≠ Borrowed Funds


39d.
Nexus of tax law and criminal law


40III.
Cancellation of Indebtedness (COI): §108


40a.
General Rule - §61(a)(12):


40e.
§108(a)(1)(A) ( bankruptcy exclusion


40f.
§108(a)(1)(B):


40h.
Zarin


41i.
108(e)(5) ( debt purchase price adjustment:


41IV.
Real estate and Debt (Tax shelters)


42c.
Crane v. Commissioner


43f.
Commissioner v. Tufts


43h.
Estate of Franklin


44V.
Tax Shelters Summary


47Deduction Themes


48BUSINESS EXPENSES


48I.
In General


48d.
§162(a): ordinary and Necessary


48e.
§212: individuals permitted to deduct


48II.
Ordinary and Necessary, Business Related


48a.
Welch v. Helvring: Ordinary and Necessary


49b.
Gilliam v. Commissioner: “origin of the claim”


49c.
Tellier: Criminal defense


49d.
Sullivan: Illegal activity


50vi.
§162: Statutorily forbidden deductions


50III.
Employee Compensation


50a.
Exacto Springs: Reasonable Salaries


51d.
162(m): limit of $1,000,000


52Business vs. Personal Expenses


52II.
Employee Business Expenses


52a.
§62(a)(2)


52b.
Reg 1.162-6: dues to professional societies


52III.
§ 67 ( 2% Floor


53IV.
§ 68 ( 3% haircut:


53V.
Clothing: objective 3 part test


53c.
Pevsner


54VI.
Child Care Expenses: § 21


54a.
Smith


54vii.
§129: employer provided child care


54VII.
Commuting


54a.
1.162-2(e)


54b.
Flowers


54c.
Fausner


55d.
McCabe(


55g.
Pollei


56k.
Temporary Employment


56l.
Reg 1.61-21(k): Late Night commuting


56VIII.
Travel Expenses: Food and Lodging: 162(a)(2)


56c.
US v. Correll


56d.
Hantzis


57j.
Figuring out HOME:


57IX.
Business Meals: §274(n)


59Expensing vs. Capitalization


59II.
Consumption Tax


61III.
Treatment of Capital Expenditures: §263


62f.
1.263(a)-2(a) One Year Rule:


62g.
Welch v. Helvering


62j.
Woodward


63k.
Reg 1.263(a)-2(e): Buying Securities


63IV.
Recurring v. Nonrecurring Expenditures 263, 263A


63b.
Acquisitions: 263A


63c.
Construction


64d.
Fees


64e.
Expanding ventures


64V.
Advertising and Intangibles


64a.
Indopco


64b.
Reg. 1.162-20: advertising and promotional expenses


65X.
Repairs v. Improvements, Reg 1.162-4


65e.
Repairing defects in acquired assets


66Depreciation


66II.
Mechanics: §§ 167, 168


67III.
Criticisms of accelerated depreciation


68IV.
Application


68V.
Conversion and Recapture: 1231, 1245, 1250


69INTEREST


69I.
Tax Arbitrage


69II.
Combating Tax Arbitrage


69b.
Municipal bond Interest: 265(a)(2)


70d.
163(d): stock purchase basket


70e.
§469 Passive Loss Rules


70III.
Tracing Rules and Personal consumption


70IV.
§163(h) ( Qualified residence Interest


71V.
Judicial Reform/Economic Substance


71a.
Knetsch:


72b.
§264(a)(2) and annuiites


73Losses


73I.
In General


73II.
Personal Losses


73a.
§183(a) Hobby Loss


73d.
Plunkett


74II.
Casualty Losses: 165


74b.
165(b): Business property


74c.
165(h): Personal casualty


74III.
Sham transactions


74a.
§267: sales to related parties


75b.
§1091 wash sales


75d.
Fender


75IV.
Interest and tax shelters


75b.
Frank Lyon


77V.
At risk rules


78Personal Deductions


78I.
Standard Deduction: §63


78d.
§63(f): aged and blind


78e.
63(c)(5) Dependents


78f.
Personal Exemption §151


78h.
Child Care Credit - §24


78II.
EITC


79III.
Evaluating EITC


80IV.
Other Deductions/Credits


80b.
§25A Education Credits


81d.
§213 Medical Expenses


81V.
Charitable giving exceptions: §170


82VI.
Taxation of the family


82d.
Children


84Capital Gains and Losses


84II.
Mechanics: 1222


84a.
§1222 ( gain (or loss) on sale or exchange of capital asset


84b.
§1211 limitation on capital losses


84c.
§1212 ( carryover and carryback


85d.
§1(h) ( cap gains rates


85III.
Defining a Capital Asset:  1221, 1222


85d.
§1231 exception for depreciable property


86e.
§1245 recapture


86f.
§1250 Real Property Recapture


86IV.
Capital Gains Preference Policy


88Non-recognition


88I.
Like-Kind Exchanges


88II.
§ 1031 exchange:


90Summary of Major Policy Issues




INTRODUCTION

I. Themes – Significance of tax
a. Politics as the questions of who gets what, when, where and how., and Tax is half of all government and politics – important duty of being a citizen is to understand 

b. Societal Impact of Taxation
i. Changes incentive structures – both intentionally and unintentionally

ii. Tax regulation reflects underlying values

c. Pervasive throughout the law: Criminal law, Family law, Corporate deals
II. Policy Issues
a. Definition of Taxation
i. Book ( process by which government transfers resources from the public to private sector

ii. Prof. Batchelder ( Process by which government transfers resources from or to the general public

iii. What is in the code!

b. Purposes: correcting market failures

i. Finance public goods (government expenditures)
ii. Redistribution of wealth
iii. Encourage/discourage activities with externalities

1. Tax on smoking causes smokers to incorporate negative externalities into their decisions (Peguvian tax)

2. Subsidies create incentives to engage in behavior with positive externalities (Peguvian subsidies) 
c. Administrability

i. audit rate is ½ of 1%; 

ii. Tax Gap – what tax payers should pay, what they are actually paying – 330 billion – 1/6 of all tax not being collected

iii. If gave more money to IRS to enforce – only 4:1 payoff

iv. Enforcement not politically popular
d. Taxation as social policy

i. Easier to enact than direct expenditure
ii. Influence behavior through incentives
iii. Less definite method

1. indirect

2. no limits on tax expenditures 
e.  Incidences of the tax ( Who really bears the burdens?
i. Consumers

ii. Companies?
iii. Workers? Pension funds?

f. Elasticity of demand and effectiveness
i. If good is price sensitive; taxing good will result in big behavioral changes and very little revenue

ii. Ramsay Taxation ( more efficient to tax inelastic goods than elastic goods (raise revenue rather than change behavior)

III. Goals of good tax policy

a. Equity ( Is the tax system fair?

i. Turns on basic assumptions about social inequality

ii. Horizontal equity ( people who are equals should bear the same tax burden, because they have equal ability to pay

iii. Vertical Equity ( People with more should pay more.  Horizontal equity is thought of as a sub-set of vertical equity.  Once you have people w/ same ability to pay, that is a vertical equity issue
b. Efficiency (Neutrality) ( Tax system should interfere with behavior in markets as little as possible (except to the extent it is mean to correct market failures)

i. NOTE: Head tax does not affect behavior (only escape it if you die), but tit does not account for inability to pay
ii. Taxes affecting same behavior can be imposed in multiple ways

1. Tax fishing permits vs. fishing rods

2. Tax state and local bonds less than federal bonds

3. Tax work but not leisure

iii. Taxing wages ( Labor supply of secondary earners is fairly responsive to tax rates

1. ?

iv. Deadweight loss of tax ( higher tax may discourage people from consuming goods and services they would otherwise buy
c. Simplicity ( minimizing complexity: three types
i. Compliance complexity ( how much math you have to do, how many forms you fill out, etc.  Least costly kind of complexity 

ii. Transaction complexity ( time and resources people spend structuring their activities to save tax costs; time and resources spent by IRS to figure out what people are doing and assess taxes
iii. Rule complexity ( arises when it’s hard to understand what the law is

1. Rules and case law are unclear

2. Length of a code section isn’t determinative of rule complexity

d. Synergy of the Three goals

i. Clearer rules (rule complexity) might decrease transactional complexity (less structuring) 

ii. Simpler rules might require fewer compliance costs

e. Tension of three goals

i. Simplicity may come at the costs of equity (e.g., flat tax)
ii. tax may be vertically equitable, but inefficient because of elastic good.

iii. Carving out equity concerns might create rule or compliance complexity

f. Examples
i. Economic substance doctrine – IRS and courts will look through to economic substance of transaction and determine if it’s what law intends.  

1. Creates rule complexity – don’t know how IRS will interpret actions

2. Increases equity – rich people less likely to engage in tax shelters because of uncertainty

ii. Luxury goods taxes

1. equity concerns

2. rule complexity – what is a luxury good

iii. General car tax

1. efficient – people buy cars anyway

2. equity – taxing everybody the same regardless of ability to pay

IV. The Tax Base
a. Three ways to measure ability to pay: Income, Wealth, Consumption

b. More theoretical concepts

i. Endowment tax ( Tax based on earning ability; creates incentives to work to full potential, but hard to calculate
ii. Liquid assets tax – simple but not fair/efficient; creates incentives to invest in non-liquid asset

iii. government benefits received ( hard to determine real demand for benefits and to apportion benefits from government when we can’t really know what life would be like without them
c. Consumption tax
i. Taxes on earnings from savings  create disincentives to save

ii. Retail sales tax is largest segment of consumption tax base

iii. People don’t like retail sales tax for a few reasons:

1. Taxes at each stage of value added

2. Incentive to cheat – claim to be a wholesaler

iv. Consumption taxes can be structures in progressive ways

d. Federal income tax is a hybrid of income and consumption tax bases
V. Terms
a. Alternative Minimum Tax – for people who do not pay enough tax relative to income (wealthy)

i. threshold not adjusted for inflation

ii. 26% on income up to $175, 28% over 

iii. have to calculate both AMT and regular tax – pay greater

b. Taxable Income – adjusted gross income minus below the line deductions

c. Gross Income – “all income from whatever source derived” – § 61
i. includes wages, compensation, dividends, gains from sale,

d. Basis – portion of sales proceeds that taxpayer may recover w/o incurring tax liability

e. Adjusted Gross Income – income minus above the line deductions (enumerated in § 62) (i.e. business deductions)

f. Standard Deduction – flat amount that varies w/marital status, can deduct regardless of actual expenses

g. Itemized Deductions – all allowable deductions other than deductions allowable to get to adjusted gross income and personal exemptions

h. Capitalized – added to adjusted basis in property 

i. Tax Rates -  see § 1

j. Average Tax Rate (ATR)- average of the various tax rates a taxpayer pays
k. Marginal Tax Rate (MTR) - the rate of tax on the last dollar taxed
l. Present Discounted Value (PV) – value now of money that is to be paid in future  ( future payment/(1+r)t
m. Credit – direct reduction in tax  (value not linked to income
i. Refundable credit is always worth the same to everybody

ii. Non-refundable credit is worth less to people with tax liability lower than the credit

n. Deduction – reduction in taxable income, which reduces tax liability by amount of deduction times MTR 

o. Cash Method – includes in income in year which received, and deductions in year which they are paid

i. Accrual Method – items when earned, regardless of when received, deductions in year which incurred, not when paid H
ii. Haig-Simons definition of income – pg. 90 - amount consumed (C) + change in wealth (∆W) ( I = C + ∆W. (hybrid of income tax and value added tax);  money value of the net increase over time
iii. Exclusions - deducted before gross income ever happens

Gross Income and Compensation for Services
I. Introduction

a. Income tax is on net income ( more like profits of a business

b. Objective ( measure net income after costs of earning income

c. Judicial definitions

i. Eisner ( gain derived from capital and labor

ii. Glenshaw glass ( Supreme Court, 1955 – income should be broadly construed in absence of specific congr. directive to the contrary; “accessions to wealth, clearly realized, and over which the taxpayers have complete dominion”
d. Hague Simons definition ( looks at uses.  Personal consumption plus changes in net value of assets

i. Includes salary, wages, interest income, dividends

ii. Business consumption is part of cost of earning income

e. Posner ( all pecuniary and non-pecuniary receipts (includes leisure, household productions, gifts, etc.)

i. Both monetary and non-monetary resources

ii. Full time work different than part-time work, even if same salary

iii. Hard to implement ( like and endowment tax
iv. Non-monetizable quantities (e.g., loving parents, etc.)

f. Code definition is narrower than Haig Simons

i. Realization principle 
ii. Corrects for market failures 

iii. Serves political consistency.
II. Calculating Tax Liability – pg. 26
a. Calculate gross income (§61)
b. Subtract above-the-line deductions (enumerated in §62).  The resulting figure is adjusted gross income (§62).
c. Subtract below-the-line deductions = sum of personal exemptions (§§151-2) and either the standard deduction or itemized deductions (start with §§63 and 67).  The resulting figure is taxable income.
d. Apply the tax rate schedules (§1) to taxable income to determine tentative tax liability.
e. Subtract any available tax credits from tentative tax liability.  The remaining amount is final tax liability.
III. Statutory Provisions

a. General Rule -§61: Gross income is income from whatever source derived. 
i. §§71-90: list of what is included in income

ii. §§101-149: list of what is NOT included in income

1. These are NOT exclusive lists

b. Above the Line Deductions - §62: this section provides a list of things which are deducted above the line to reach Adjusted Gross Income → these items may be deducted even if taxpayer elects to take standard deduction. 

i. Items eligible for Above the line deduction are:

1. Trade and Business Deductions §162

2. Losses from Sale/Exchange of Property §161 and following

3. Deductions attributable to rents/royalties

4. Certain Deductions of life tenants/income beneficiaries

5. Pension, profit-sharing and annuity plans of self-employed individuals

6. Retirement savings

7. Alimony

8. Moving Expenses

9. Interest on Education Loans

10. Higher Education Expenses

11. Health Savings Accounts

12. Costs involving Discrimination Suits

c. Below the Line Deductions/Standard Deduction - §63: After calculating AGI, taxpayer then subtracts either the standard deduction or itemized deductions.  Deductions not enumerated in §62 are below the line deduction under §63. 

i. NOTE: for below the line deductions, need to distinguish between miscellaneous and Non-miscellaneous.  (see below, discussion of the relevance under §67)

ii. Miscellaneous: anything not listed as non-miscellaneous, such as unreimbursed business expenses, and investment expenses under §212

iii. Non-Miscellaneous (§67(b)): generally includes things like interest, taxes, casualty and wagering losses, charitable donations, medical expenses, and several others. 
IV. Form of Receipt/Compensation for Services

a. Form of payment is irrelevant. Payment for services is included in income. (Old Colony Trust Co. v. Commissioner)

b. §275 and tax inclusive rate  ( No deduction to employee if employer pays employee federal income taxes. 

c. Grossing up: Income After Tax = Income Pretax – (Income Pretax x Tax Rate); 

i. Gross up income: divide after tax income by (one minus tax rate)
ii. To earn $10k after tax with 5% tax rate, must pay $10,000/.95
d. Old Colony (FACTS: Company pays salary to executive and pays taxes on the salary.  Court rules that the taxes paid were taxable income and employee (or employer) must pay tax on that amount as well.
i. NOTE:    Result is no longer really good law.  

ii. Today a full gross income is required; would have to employee $3.33 million total for him to take home $1 million
e. Consequences of a tax exclusive rate:
i. vertical equity ( Companies probably would not pay taxes for lower paid workers, OR they’ll just lower nominal salaries.

ii. Horizontal equity ( some companies will pay taxes, and some won’t, so people earning $1,000,000 might pay differently

FRINGE BENEFITS

I. Fringe benefits
a. In-kind benefits that are transferred to employee
b. Form of compensation for services
c. May be necessary for performance of duties
d. Most fringe benefits fall in between:
i. After hours meals
ii. Discount on company goods
e. In practice
i. Restricted choice only matters in some instruments
ii. In other cases, limited personal benefit doesn’t mean exclusion, e.g. a lot of reimbursed meals
iii. Business meals are a messy area
f. Valuation problems: Code tries to avoid valuation issues: all or nothing approach for fringe benefit received
g. Reconciling  with Haig Simmons definition of income
i. Recipient is still getting value, but not being taxed for it

ii. Is value offset by value to employer

h. Valuation difficulties: Since employee valuation may be less than market, recipient shouldn’t be taxed at market value

i. value it at cost to provider (if employer’s product/service)

ii. value it at cost of other options

i. Liquidity problems ( employees may not make enough money to cover costs of taxes on large fringe benefits

j. Equity Issues and Fringe Benefits:
i. Horizontal equity( recipient pays less than somebody else with equal ability to pay

ii. Vertical equity ( higher compensation employees are likely to get finges.  In addition, this cuts payments at the higher marginal rates.

iii. Actual distributional consequences are an empirical question

k. Are there incentives to provide tax-free fringes instead of wages?

l. Tax Wedge ( unless there are market failures you want to have tax system interfere with people’s decisions as little as possible.  
II. §132 and fringes in general:

a. §132(d): Working Condition Fringe. This section relates to any property/services provided to an employee of the employer to the extent that, if the employee paid for such property or services, such payment would be allowable as a deduction under either §162 or §167.
b. 132(e)(1) de minimus fringe ( so small as to make accounting for it unreasonable or administratively impracticable (doesn’t really work for regular meals)
c. NOTE: §132(l): §132 DOES NOT APPLY to fringe benefits expressly described elsewhere (except for (e) which discusses de minimus fringe or (g) which discusses moving expense reimbursements). Thus, if you are dealing with something like meals, which is already covered under §119, the only way it could be covered under §132 would be if it could qualify as a de minimus fringe (§132(e))

d. 132 specifically covers other benefits (see below)
e. §132(j)(4) ( on premise athletic facilities don’t incur charges
III. Meals and Lodging ( §119
a. §Reg. §1.61-2(d)(1): if you get compensation for services you need to include it in income, whether it is cash or use of property.  When you receive property for exchange of services, the amount of income you include is the FMV of what you received, not the value of the services.

1. EXCEPTION: this regulation does NOT apply if employer has a “non-compensatory motive” for providing the property/services. In addition, the more closely the item/service is tied to the job, the less likely included in income. (Benaglia)
b. Banaglia v. commissioner ( B required to live in a nice suite at the hotel and eat meals in hotel restaurant (before current §109)

i. Holding: Not part of income for tax purposes, because it was essential to the job.  He did not have a choice to live there

ii. Rationale: “Convenience of the employer” standard ( he lived there and took meals for the benefit of the employer (not his own convenience)
b. §119(a): meals and lodging provided to employee, his spouse, and his dependents, by or on behalf of employer and for the convenience of the employer may be excluded from employee’s income if

i. in the case of meals → meals furnished on the business premises of the employer

ii. In the case of lodging → employee is required to accept such lodging on the business premises of his employer as a condition of employment. 
c. Reg 1.119-1 ( meals furnished directly employee
i. (a)(1)Must be furnished on(i) business premises and (ii) for the convenience of the employer
ii. (a)(2) “substantial noncompensatory business reason”

iii. Examples

1. restaurant workers always qualifies as noncompensatory business reason 1.119-1(a)(ii)(d)
2. promoting morale/goodwill does no qualify 1.119-1(a)(iii)

iv. Meals furnished before or after work don’t qualify, except for restaurant employees or meals immediately after work when employee’s duties prevented him from eating during working hours

d. 1.119-1(a)(3) covers meals furnished with a charge

e. §132(e)(2) ( employer operated eating facility is de minimis fringe if: (A) on or near premises and (B) revenue fro facility normally equals or exceeds direct operating costs of facility.  Also, must be available on same basis to employees and does not discrimintate in favor of highly compensated employees 

f. Meal Money: Regulation 1.132(6)(d) Four conditions for meal money:
i. Occasional basis
ii. Reasonable money
iii. Because of overtime work
iv. If it is provided to enable employee to work overtime
g. Kowalski ( state troopers can’t deduct reimbursed meals, even though they have to eat at restaurants while on patrol.  The statute covering military members shows that Congress meant to specifically include military, thereby not allowing deduction for others.
h. Lodging (
i. 119(d) covers qualified campus housing for employees of educational institutions
ii. Reg 1.119-1(b) ( exclude lodging if
1. on the business premises of employer

2. for the convenience of employer; AND

3. employee is required to accept lodging as condition of employment (i.e., in order to enable him to properly perform the duties of his employment

i. 1.119-1(e) ( if employee could exchange meals/lodging for higher pay, they are NOT excludable
IV. Parking and Transportation ( §132(a)(5) and (f)
a. 132(f)(1)(C) ( qualified parking
i. (f)(2)(b) ( up to $175/month for qualified parking.  

ii. (f)(5)(C) definition ( includes parking on or near business premises, or near location of commuter transportation n

b. 132(f)(6) inflation adjustment

i. Actual in 2006 is $205 

c. 132(f)(1)

i. (A)  transportation  to and from work in commuter highway vehicle
ii. (B) Transit Passes

iii. (f)(2)(A) ( up to $100/;month

d. Reg 1.132-6(d)(2)(iii) ( occasional local transportation fair

i. Unusual circumstances (later hours, temporary schedule change) and because of safety concerns
ii. Excess value of each one-way tirp over $1.50 is excluded.
iii. Not available to “control employee”
V. No Additional Cost Services, Qualified Employed Discounts: §132(b), (c)
a. 132(b) ( No Additional Cost Service is offered to consumers in ordinary line of business of employer in which employee is performing services, AND no substantial addition cost (including forgone revenue)

i. Example: airline flights ( OK to offer free airline flight attendant to spouse

ii. Policy implications ( gives incentives to get around taxes

iii. Horizontal Equity issues ( Might benefit a certain class of employees to the exclusion of others

iv. Vertical equity issues ( tax rate for secondary earners; more valuable to employees married to high income people 

v. Might benefit an industry

vi. Efficiency ( Efficient in general that empty seat is being used (but there may be externalities

b. NOTE: 132(b)(1) ( employee has to be “performing services” in that line of business; important that airline employee be a flight attendant

c. §132(c) ( Qualified Employee Discount: can offer up (A) to gross profit percentage of priced of property, or (B) 20% discount threshold for services
d. §132(j) no discrimination principle; can’t exclude unless offered to all employees; See also Reg. 1.132-8
e. 132(h) ( no additional cost service and discounts may also be offered to may be offered to 

i. Retired and disabled employees and their surviving spouses  (h)(1)
ii. Spouses and dependent childres (h)(2)
iii. parents in the case of air transportation (h)(3)

VI. Spousal benefits ( 132 and 274(m)(3)
a. See 132(h) above for no additional cost benefits and qualified employee discount 
b. Gotscher ( VW and Economy Motors flew Mr. & Mrs. Gotscher 12 day all expense paid trip to Germany.  He later invests in Economy Motors
i. Holding: No income for Mr. Gotscher, but Mrs. G’s trip is income
1. her trip was income to him, because he was the employee/investor
ii. even if employee receives some incidental benefit from expense-paid items such as meals, or lodging, the value of these will not be included in his gross income if the meals and lodging are primarily for the convenience of the employer. 
iii. When this indirect economic gain by the employee is subordinate to an overall business purpose, the recipient is not taxed. This case is often cited for the principle that what matters is the primary purpose of the payor/employer.
c. §274(m)(3) ( travel expenses for spouse, dependent or others
i. spouse is an employee of the taxpayer
ii. there is a bonafide business purpose
iii. the expenses otherwise would have been deductible
iv. Reg. §1.132-2(t): even if employer cannot deduct spouse’s expenses, employee can exclude the reimbursement so long as the spouse’s presence had a bonafide business purpose. This creates a presumption:
v. if dominant purpose of having spouse on trip is for business → excludable from GI
vi. if dominant purpose of having spouse on trip is personal travel → include in GI
vii. NOTE: Exclude from employer deduction, but allow employee to exclude it [?]
d. Revenue Ruling 63-77 ( specifically allows such exclusion
VII. Property Transferred in Connection with the Performance of Services: §83
a. General rule: General Rule under §83: if employee purchases from employer, in connection with his employment, property at a cost of less than FMV, the difference between FMV and the price he paid will be included in his gross income. The question under §83 will then be whether or not he makes an §83(b) election and includes the income now rather than later (i.e. at the time when the property is no longer at substantial risk of forfeiture)

i. §83 Qualifications: use convenience of the employer test [?]
ii. Policy point: only include discount on property in income after the point when we know Person is staying in property for personal reasons (i.e., if he stays past his employment, we know it’s for personal consumption)
b. §83(a) ( As soon as property right becomes transferable or not subject to substantial risk of forfeiture (i.e., he can keep it permanently), the difference between the purchase price and fair market value (at time of vesting) is includable in gross income
c. §83(b) election ( May elect to include difference between fair market value and amount paid right away. 83(b)(2) allows 30 days to make election (or less if IRS regulations say so)
i. RISK: Under 83(b) election, one can’t get taxes back once they’re paid (no loss if you forfeit/sell property before it’s fully yours)
ii. Possible gain:  Don’t have to pay more taxes on appreciated value of property at time interest fully vests; benefit depends on time value of money
iii. Nominally pay same amount in taxes ( property w/ $2.5 million value in year 0 acquired for $2 million, vests at $3 million value in year 10, sold for $3.5 million in year 12
1. 83(a) ( pays $0 in year 0, $400k in year 10 (40% of 1 million) and $200k in  year 12 (40% of  500k); present value at 5% rate is $357k
2. $83(b) he pays $200k (40% of $500k) in year 0, $0 in year 10, and 400k in year 12 (40% of 1 million); at 5% interest rate, present value is $423k
d. §83 and capital gains vs. ordinary income

i. Under 83(a) the discount was compensation for services ($1 million at year 10 would be considered ordinary income)
ii. With 83(b), you are treated as owner of property, original 500k is taxed as income; $1 million in year 12 would be taxed at capital gains rate
e. Gains of Imputed rental value
i. Living in apt is personal consumption ( he would have been paying rent.  
ii. If he pays $2 million in year 0, sells it back in year 5 for $2 million, has he paid anything?
iii. If he made the election, everything after year zero is not compensation for services; so we don’t include the imputed rental value of living in your own house.
iv. If he doesn’t make the election, he might have to include value of staying in the property
f. NOTE: §121 ( exclusion of capital gains for sale of primary residence 
g. Regulation 1.83-2(a): Basis in property upon sale is amount paid, plus amount taxed in 83(b) election
i. in event of forfeiture, loss should be amount paid [as opposed to FMV] minus amount realized 
ii. loss is a capital loss
h. Regulation §1.61-2(a)(2): Property transferred to employee or independent contractor. If property is transferred to an employee or employer or independent contractor as compensation for services, and it is done for less than FMV, the difference between the price paid and the FMV will be treated as compensation and will be included in the employee’s income. 
Tax Expenditures

I. Tax expenditures in general
a. Reduction in income tax liability that results from special provisions or regulations that provide tax benefits to particular taxpayers
b. 4 purposes for tax benefits
i. Accurately measure income (deduction of business expenditures)

ii. Administerability (realization principle)

iii. Measuring ability to pay ( adjust marginal tax rates for higher incomes

iv. Incentives ( for social desirable behavior

c. Expenditures ( create incentives or disincentives for activity
d. Structural provisions vs. tax expenditures ( Where do we draw the line?

i. Fringe benefits ( included in tax expenditure budget

ii. Child tax credit is in the tax expenditure budget

iii. Marginal tax rates are NOT tax expenditures
II. Tort Damages for nonphysical injury ( 104(a)(2)
a. FACTS: whistle blower black listed; got damages to personal reputation; she received compensation for nonphysical damages and declared as income; wanted it back; IRS refused
b. §104(a)(2) only excludes damages “on account of personal physical injuries or physical sickness;” bot NOT non-physical personal injury
c. Holding: She can exclude the damages

i. §104 in this area is unconstitutional

ii. This type of damages is NOT income as referred to in the 16th amendment; meaning of the word “income” as thought of in 1913 wouldn’t have included reputational damages
d. Damages were in order to make one whole, or compensate for a loss; NOT a real gain

e. Opinion may illustrates how squishy the tax expenditure budget is
i. People thought exclusion for physical damages is a tax expenditure
ii. However, these and non-physical damages are now mandator
III. Structuring government benefits
a. Example someone has $100 in income, 30% tax bracket; Want to make sure they have $10 to purchase vitamins for kids
b. In kind: give $10 in vitamins

c. Vouchers: vouchers for vitamins $15 and tax the $15

d. Exclusion ( exclude $32 for purchase of $10 in vitamins

e. $32 above the line deduction
f. $10 tax credit
IV. Tax expenditures vs. Direct expenditures

a. Valuation:
i. Tax expenditure budget = cost of all deductions (no spending caps)
ii. Revenue estimate; doesn’t account for dynamic effects over time

iii. Dynamic scoring (Clinton commission): tax cuts nominally cut tax rates, but they stimulating the economy

iv. Radically sensitive assumptions about what you think grows the economy
v. No spending caps for TE
b. TE can only create incentives; direct expenditure actually distributes benefits
c. TE Benefits may go to someone other than intended beneficiary; e.g., product subsidy might keep price up and just benefit industry

d. In kind distribution guarantees that benefit goes to recipient
e. TE doesn’t account for lowest cost avoider ( $1 of government expenditure might get more of the good or service than individuals’ $1;

f. Tax expenditures give more latitude for individual choice

g. Administrability ( swings both ways

i. IRS is a cheap administrator for programs

ii. Food stamps require more administrative costs ( need to go to office, bring documents, wait around all day
iii. Other agency may be better at substantive judgments
h. Speed of payment
i. To recipient: must wait for refund

ii. To government: gain on time value of money
i. Take up benefits ( more likely to take tax benefit absent stigma of having to go to welfare office; 80-85% claim EITC; lsess claim TANF

j. Direct program might be more malleable ( 

i. Less visible if in tax code

ii. less expertise if administered by IRS

iii. BUT other agencies might be more subject to capture

k. Politically easier to do: Making a tax cut sounds better than increasing government expenditure

l. Upside down subsidy issues; Expenditure is more valuable to people in higher tax brackets (unless refundable tax credit)
m. No sunset rules on tax expenditures.  Enact a section, and it stays there until tax writing committee rewrites
n. Surrey vs. Bittker 

i. Surry: need to get a sense of how much we’re giving up compared to hypothetical normal income tax ( more transparency

1. tax expenditures are inferior to direct expenditures; they create a series of benefits we wouldn’t pay for otherwise and upside-down subsidies

2. Assumption: Tax expenditures are deductions and exclusions

3. Stronger reading: get rid of all tax expenditures

4. Weaker reading: explicit tax expenditure budget and think of value of expenditures relative to costs
ii. Bittker: Since we can’t tell which is which (expenditure vs. calculating income), expenditure budgets will be inaccurate and misleading
V. Employer provided health insurance: §§ 105-106

a. [§ 104(a)(3) ( individual can exclude amounts received through accident or health insurance plans for personal injuries or sickness, but can’t exclude payment of premiums]
b. § 106: exclude the value of premiums paid by employers to health plans

i. § 106(c)( inclusion of qualified long term care plans
c. § 105: amounts received (reimbursements) from health plans

i. 105(a) general policy of inclusion. 

ii. 105(b) allows for exclusions of certain amounts

d. § 213: medical care and expenses except cosmetic surgery, to the extent that such expenses are greater than 7.5% of AGI
i. Can’t have your employer get you a plan of $10k in health insurance that covers cosmetic surgery and then let me exclude those payments 

e. Medicaid and Medicare are excludable ( government benefits are not includable in income; welfare is also excludable

i. NOTE: Some social security and unemployment benefits are taxable
ii. Back door way of changing the benefit formula

f. §162 (l) ( self-employed individuals can deduct 100% of their health care premiums

VI. Health Insurance policy issues

a. Policy ( government is supplementing the burden of health insurance.  

i. Incentives for employers to provide health insurance

ii. Incentives to take government health benefits

iii. This is good for society if you think that those uninsured will end up becoming a public burden; incentives for preventative care

b. Economics: Correcting Two classic market failure in insurance markets

i. moral hazard ( people engage in more risky behavior if they have insurance [is there really a savings]
ii. adverse selection ( people who take out insurance are those more likely to make a claim on it (large pools insured by employers solve this problem
c. Upside-down subsidy
i. §106 helps out the highest income employees

ii. Medicaid and medicare help at the bottom

iii. Who’s helping in the middle

d. Incomplete coverage ( Inducement to insure, but not a requirement

e. Subsidizing the medical industry
i. No cap on employer provisions under §106
ii. Rising health care costs ( moral hazard problem.  Everything costs the same to the insured; people always chose the highest cost services

iii. Use of co-payments to help align incentives

f. Less portable ( Each time you change employers, you change health care providers

g. Buying out the base ( provided incentive that would have engaged in a behavior anyhow.

h. Alternatives to $80 billion tax expenditures:
i. National Health Services

ii. Health care tax credits (refundable tax credit) 
Imputed Income, Gifts and Bequests

I. Imputed Income

a. Income imputed from your own labor in private life

b. Examples: cleaning your own house, caring for your own children
c. Inefficienccies of failure to tax imputed income:
i. Distort labor/leisure incentives: 
ii. Example:If Ian makes $20 and uses it to pay dog walker, he is taxed on dog walder (can’t deduct personal expenses under §262), but if he walks the dog himself he pays no taxes.

iii. Failure of horizontal equity: both situations have identical economic value, but wages increase tax liability.
d. Policy point: Valuation (  leisure is worth different things to different people; more valuable to lawyers

e. Enslaving the beach comber ( 
i. People will have to work at their most productive rate. 
ii. Liberty concerns from endowment tax; doesn’t allow people to choose what they want to do

f. In practice: huge benefit from home ownership: no tax on imputed rent
II. Business Gifts ( §102
a. “hidden income” that we don’t see 

b. Potential for abuse  ( shifting who pays taxes; employee could receive “gifts” and in reality it’s employer paying taxes 
c. Possible Tests
i. Motive ( Hard to enforce; might game the situation, so recipient will exclude and donor may take a deduction

ii. Election option ( give donor or donee election; one has to include it in income, and they can decide between them which one.  

1. Symmetry in tax treatment

2. Chilling effect on gifts: would need negotiations

3. Hard to enforce ( likely that neither party would elect to include it in income

4. Too much flexibility ( incentive to have person with higher marginal tax rate take deduction

d. Duberstein ( Burman gave Duberstein a Cadillac; court of appeals said gift

i. Supreme Court holding (BRENNAN) ( it’s income

ii. Standard ( totality of circumstances
1. Look at payor’s motivation

2. Wellsprings of human kindness, admiration

iii. Clear rule will allow rich people w/ good lawyers to avoid taxes
iv. Dissent (FRANKFURTER) ( way too fussy.  There should be a presumption in the business context that this is not a gift; too much factual review require; Rebuttable presumption that it is income
v. NOTE:  rules (BRENNAN) vs. standard (FRANKFURTER) debate

e. Stanton ( church gave retiree a gratuity of $20,000.  District court held no income; court remanded; district court said still not income
	
	Recipient
	Payor

	Compensation
	Include §61
	Deduct §162

	Pure Gift
	Exclude, §102
	No deduction, §162

	Business Gift to Employee
	Include 102(c)
	Deduction §162

	Business Gift to Business Associate
	Exclude §102
	Include if >$25; 274(b)


f. §102(a): Gross Income does NOT include the value of property acquired via gifts/bequests
g. §102(c)(1): says that gifts from employers to employees cannot be gifts and must be included in gross income. 
i. EXCEPTION: Proposed Reg 1.102-1(f)(2) provides for an exception to §102(c)(1) in the case of gifts between related parties (“natural objects of an employer’s bounty”) “if the purpose of the transfer can be substantiall attributed to the familial relationship of parties and not circumstances of employment.”
ii. Proposed Reg 1.102-1(f)(1) allows exclusion for prizes and awards (including employee achievement)

h. Current Law regarding gifts to Business Associates: business associate might be able to exclude this under §102. 
i. §274(b) ( payor can’t take deduction allowed under 162 or 212 for gifts made to individual over $25 in one taxable year
1. gift is anything recipient can deduct under §102

2. exceptions for small promotional branded items (<$4.00) and signs/disply racks/promotion materials for display in business

ii. Policy: Surrogate taxation ( IRS decides to increase the tax burden on one side as a surrogate for the improper benefit of another

1. if recipient excludes gift, payor may NOT take a business deduction under either §162 or §212.
2. If recipient wrongly characterize this as a gift, then we’ll tax the donor.

3. Different from a pure election, because the donor/employer gets to choose; employee has no choice
i. Analysis for Business Associate Gifts:
i. Did the employer deduct it under §162(b)(1)? If so, not treating it like a gift, business associate should include in income. 

ii. Did employer/payor have “detached and disinterested generosity?” If so, probably treating it like a gift and business associate can exclude from GI. 
j. Tips – Regulation §1.61-2(a)(1): tips which constitute compensation for services must be included in gross income.  
i. Problem: Could a tip be a gift?
ii. The $10,000 tip on a $26 meal, is this a gift or compensation?
III. Prizes and Awards ( §74
a. Generally, prizes are not excludable

b. §74(b) ( prizes donated to charity excludable if they meet conditions:

i. Selection w/o any action to enter contest

ii. NOT required to render substantial future services as condition of receiving prize

iii. Prize donated to charitable organization

iv. Received because of religious, charitable, scientific, educational, artistic literary or civic achievement Generally, prizes and awards are included in gross income
c. Regulation 1.74-(1)(a)(1): Prizes and awards which are includible in gross income include (but are not limited to) amounts received from radio and television giveaway shows, door prizes, and awards in contests of all types, as well as any prizes and awards from an employer to an employee in recognition of some achievement in connection with his employment. 

d. Regulation 1.74-1(a)(2): amount included. If the prize or award is not made in money but is made in goods or services, the fair market value of the goods or services is the amount to be included in income. 

e. Regulation §1.102-1(a): the gift exclusion under §102 does NOT apply to prizes and awards. The recipient of a price or award generally includes the prize in income even if the transfer was gratuitous. 

f. EXCEPTIONS
i. §274(j): Certain Employee achievement awards are excludible from income – such as tangible personal property for length of service or safety achievements.   NOTE: Employer may only deduct $400 of cost of award and up to $1600 for “qualified plan award”

ii. §117(a): Gross income does not include any amount received as a qualified scholarship by an individual who is a candidate for a degree at an educational organization at an educational organization. 
g. Problem: winning a car from Oprah

i. Give car to charity and take charitable deduction

1. if you’re taking standard deduction it may not be worth as much to you

2. §170

IV. Personal Gifts (no mixed motive)
a. estate tax ( only applies to roughly top 1-2% of donors

i. Can exclude about $2 million of gifts and bequests right now

ii. phased out in 2010, and falls to $1 million in 2011

iii. Rate now is 45%; will return to 55% in 2011

b. Gift tax (  annual de minimis exclusion of $12,000, which count towards lifetime exclusion of $1 million
c. Generation skipping transfer tax ( tax imposed on transfers to generations below your children

d. Focus on cash gifts; 3 options:

	
	Donor
	Donee

	A
	Deduct
	Include

	B
	No deduction
	Exclude

	C
	No deduction
	Include


e. A ( make donee pay but allow donor to deduct
i. income shifting potential ( choose person with lower tax bracket to be taxed on the gift

ii. donee inclusion might disincentivize certain gift giving

iii. If both are in same marginal tax bracket, it doesn’t incentivize gift-giving (rational donor he will see through tax and adjust gift)
iv. May encourage progressive/redistributive gift giving ( people with higher rate will give to lower rate; 
v. administrability ( what’s a gift and what’s support?  

vi. Justification: recipient gets to consumer gift and should pay taxes

f. Approach B ( no deduction for donor; recipient can exclude
i. Pros: liberty, administrability

ii. Regressive ( giving money to people with higher tax rate gets the incentives backwards

iii. Inverse of A: prevents income-shifting
iv. Taxes money at donor’s rate; not spender

g. Approach C and Haig-Simmons: Similar tracking transfer problems to A
i. Creates disincentivize gift giving ( donor doesn’t like that can’t spend gifts the way he wants; donee feels unfairly charged.

ii. Argument in favor: gifts are consumption by donor; recipient has more more money for consumption

iii. Problems: inter-family consumption; discourages gifts

V. Basis in Gifts : 1015(a) carryover Basis
a. For gifts of appreciated property: The basis of donor = basis of the donee. 
b. §1015(a) and “carry over basis”( basis shall be the same as what it was in hands of donor; gift giving is NOT a realization event
c. EX: Donor buys X for $100 and she gives it to Donee when it is worth $150, and Donee sells the property when it is worth $175. Donee’s basis = $100. 
d. Carry over basis allows both deferral and incoming shifting

i. Defer tax until sale

ii. Only taxing it as income to one person who actually sells
e. “Lost Basis Rule” for gifts ( loss is difference between amount realized and the lower of donor’s basis or the FMV at time of gift. 
i. Basis is adjusted down to fair market value if there was a loss in basis
ii. Policy: prevent loss shifting (converse of income shifting)
1. give loss to someone in higher tax bracket to whom los is worth more
2. not altruistic to give losses to people of higher income
iii. EX: Donor buys X for $100, it is worth $80 at the time of transfer, and then $75 at the time that Donee sells it. Donee’s basis is $80 and he recognizes a $5 loss. 
iv. NOTE: Carryover basis is only reduced “for purposes of determining the loss.”   Therefore, if stock fell to $80 at time of gift, but recipient later sold at $120, basis is still $100 (not shifted down in case of gain)

v. NOTE:  If property appreciated from time of gift, but stayed below donor’s basis, there is no gain or loss, e.g., stock fell from $100 to $80 at time of transfer, and sold for $90 then no gain nor loss
VI. Basis in Bequests: §1014 stepped up basis
a. §1014 and “stepped up” basis ( Donor’s basis is “stepped up” to value at time of bequest
i. Appreciation is entirely forgiven

b. Policy: 
i. not much behavior response; no incentives to die

ii. Parity with estate tax, which is assessed according to FMV

iii. We already do a valuation for estate tax

iv. Don’t want to burden people with taxes on past appreciation

v. Increases incentives for people to gain during life, because they can hand it down (encourage labor supply of the donor)

c. Inefficiency: Lock in effects
i. incentives for elderly people to hold onto appreciated assets

ii. carry over: donee will be taxed on appreciation since receipt once they sell it (incentives not to sell appreciated assets received)

d. Horizontal and vertical equity issues

i. tax giveaway to people who can give away appreciated assets at death

ii. Vertical equity problems ( someone with $80 of appreciated stock and good tax advice will pay less tax than person with $100 and bad tax advice.

iii. Smaller estates ( vast majority of estate is not appreciated assets

iv. Larger estates ( huge portion of value of estate is unerealized appreciation

e. Tax expenditure of stepped up basis is $38 billion (not accounting for behavioral response if gain was repealed
f. NOTE:  Basis is also stepped down at time of bequest if asset depreciated.  
i. Losses are lost as well under the tax treatment of bequests

ii. For gift, appreciation can be offset with loss that donor had

iii. creates to sell depreciated assets (lose loss entirely if you’re bequest)

g. Treating death as a realization event (estate deducts losses and pays taxes on gains)
i. Reduce lock-in incentives, won’t privilege those with better tax advice

ii. Liquidity problems might have to sell assets to pay the taxes
iii. Inequalities: People with less resources may buy  fewer large assets 

iv. Efficiency problem ( deadweight loss: people spend time structuring estate so as not to have to avoid taxes

v. Ability to avoid taxes altogether through inter vivos transfers.
vi. Disincentives to accumulate property

vii. Death is a forced transaction; don’t choose to die

h. Extending carry-over basis to bequests:

i. corrects inefficiencies and eliminates incentives to give things as bequests instead of gifts

ii. No liquidity problems for treating it as a realization event

iii. Supre Lock in effect ( people will never sell something that has appreciated so much.  

iv. Administrative concerns ( we can approximate value better than stepped up basis (carry over basis has provision for this)

Basis Recovery and Allocation

I. Recovery of Basis and Gains

a. §61(a)(3) ( income includes gains from dealings in property
b. §1001(a) ( determination of amount  of and recognition of gain or loss

i. Gain = amt realized – adjusted basis

ii. Loss = adjusted basis – amount realized

c. 1001(b) ( amount realized defined

d. §1011 ( general rule for adjusted basis

i. Punts to 1012 and 1016

e. §1012 ( basis of property is cost 

i. How much after tax money did you put into the property

ii. Figure out how much money you earn/lose on the sale

f. “First in First Out Rule for stock - Reg. §1.1012-1(c)(1): stock acquired over time, basis is calculated against earliest acquisition (unless you can identify stock as shares bought later

g. §1016 ( adjusted basis: §1016(a) capital improvements increase basis

h. §1014 ( basis in bequests

i. §1015 ( basis in gifts/transfers in trust

j. 3 ways to recover basis: Depends on how you buy and sell the property; 3 methods with different consequences for time value of money

i. expensing the asset ( recover basis in same year

ii. Capitalize the asset ( don’t deduct right away.  

iii. Capitalize depreciable asset ( deduct part right away and take depreciation deduction over time.  
k. NOTE: Basis recovery and realization principle stand in contrast to “mark-to-market” regime
l. 3 things you need to know to assess tax consequences:

i. Basis

ii. Gain/loss realized

iii. Holding period

II. Timing of Basis Recovery
a. Rent under 61(a)(5) is considered gross income, not recovery of basis
b. Hort v. Commissioner  ( Hort inherited building; sub-lessess negotiates out of lease; pays Hort $140k in settlement

i. Owner claims default is a loss of $21k ( price of new lease would be $161k less, offset by $140k settlement

1. arguing for stepped up basis when he receives the building.  

2. Trying to allocate some of the basis to this premium lease

ii. Holding 
1. termination settlement was gross income (rents) since it is the discounted value of unmatured rental payments 

2. Lease did not have a basis (future rents would have been ordinary income)

3. Goals: deny capital treatment, deny offsetting basis

iii. KEY POINT: Look at what the payment was a substitute for in determining taxation
iv. Haig Simmons ( he does have a loss because of decline in amount of rent he could get on this property

v. BUT law doesn’t usually mark to market and allow realization of loss w/o sale

vi. Coming out the other way: create incentives to invest risky real estate, disincentive to find new leases
c. Fruit and Tree analogy: fruit is income; portions of tree are basis
i. Rent is more like fruit (as is rent recovered in litigation
ii. Depreciation will compensate for losses of parts of tree

d. NOTE:  Leases are treated as income streams, not capital (no basis)

e. Consequences of No mark-to-market regime (only realization through sale) 

i. More administratively friendly ( don’t have to do valuations
ii. Overall, it is arbitrary, but may be necessary to prevent taxpayers from manipulating the mark-to-market rule based on tax rates

1. some years with low tax rates they will want to call rent payments income

2. other years with higher tax rates they will want to call it time-share selling and offset some basis

iii. Liquidity issues: Mark-to-market would taxpayer to realize the loss, but it would also force him to realize gains

f. Depreciation is a rough substitute for a mark-to-market regime: 

i. results in some people being under taxed and others being under taxed
ii. Incentives to sell one year time share and allocate basis against it.

g. Regulation §1.61-6(a) ( proceeds from sale of part of larger property are counted as sale of equitable portion of basis
h. Favorable tax treatment ( Foster and Amajulan ( if can’t equitably apportion the value at time of purchase, then you make all $80,000 part of basis.  
REALIZATION

I. Realization Requirement
a. Governs timing of income from property
i. Gains ( amt. realized minus adjusted basis

ii. Losses ( adj. basis minus amt realized

iii. No “mark-to-market” ( no taxes property is sold

b. Charlstein ( tax is a really a tax on transactions, not on property

c. Policy ( Valuation problems, Liquidity problems
d. Recognition of Gain or Loss - §1001(c): unless otherwise provided entire amount of gain or loss, as determined under this section, which occurs upon the sale or exchange of property, shall be recognized. 

e. §1001(a): sale or disposition of the property.

i. Exchanges of Property: An exchange of property may be treated as a disposition only if the properties exchanged are materially different. 
ii. Cottage Savings Ass’n v. Commissioner: the court said that properties are “different” in a sense that is “material” to the extent that their respective possessors enjoy legal entitlements different in kind/extent. i.e. legally distinct entitlements (not economic similarity).  Upheld deduction of loss for mortgage pool swap

iii. Reg. §1.1001-1: There is a disposition if you exchange materially different property. Thus, the gain or loss realized from the conversion of property into cash, or from the exchange of property for other property different materially either in kind or extent, is treated as income or as loss sustained. 

f. §121: home sale exclusion: up to $250k capital gains for sale of primary residence
II. Windfall and Treasure Troves

a. Reg. 1.61-14(a) ( “Treasure trove, to the extent of its value in US currency, constitutes gross income for the taxable year in which it is reduced to undisputed possession.”  IRS practice is that it wouldn’t be income until the time that you sold it
b. Cessarini ( Treasure Trove Case.  Windfalls are taxable in general found $4500 cash in a piano bought years earlier for $15.  
i. §61(a) ( “Gross income means all income from whatever source derived . . .”

ii. Reg. 1.61-1(a) ( Gross income includes income realized in any form whether in money property or services.

iii. Policy ( if you exempt some windfalls; you’ll have people starting to structure things as windfalls

iv. Π’s argument: revenue ruling is not dispositive; comes before §§ 74, 102.  Since you needed prize and award rule to prove those weren’t gifts, then need a treasure trove section to prove this find wasn’t a gift

v. Alternative argument: statute of limitations is 2-3years, counts as income when they received the pianee 

c. Mark McGuire’s homerun: IRS practice ( no income if you give it back, silent about what happens if you keep it.  Could be political
d. catching a rare valuable fish; only realization if you sell it (might eat it and not know the value)

e. Finding valuable object vs. paying low price
i. Rembrandt painting in flea market and buy it for $15; keep it as property with $15 basis.  No realization until sale or exchange

ii. Treasure hunters ( spend time and resources locating treasures; find Rembrandt underneath the tiles of the sidewalk

f. Policy: immediate realization of cash found vs. waiting to sell an object

i. No Liquidity and Valuation Issues 

ii. There is never a realization point for the cash, so tax immediately

iii. Political pressure ( it’s just about how people perceive things

iv. Positive externalities of risk-taking reassure hunters

III. Exercising dominion through charitable deduction: Haverley v. US ( Principal receives $400 in sample textbooks; doesn’t include in income but take deduction for donation to schoollibrary. Court holds he must include in income if he took a deduction from them
a. “intent to exercise complete dominion over unsolicited samples by donating those samples and taking a tax deduction”
b. No double tax benefits
IV. Securities and Dividends:  

a. Eisner v. Macomber ( In Kind stock dividends are NOT realization events.  Dilution of value of her shares and making up dilution by giving more shares.  No value realized by stockholder before sale (more like retained earnings)
i. Cash Dividends or reinvestment plan are taxable
ii. 16 amendment constitutional case
b. §305 ( Stock dividends are NOT income
c. NOTE:  taxed on stock received if there is an option to receive cash or benefits
d. Cash Dividends: § 301
i. §301(c)(1) says that the portion of a distribution which is defined as a dividend in §316 is included in gross income. 
ii. §316(a): dividend is defined as any distribution of property made by a corporation to its shareholders.
e. Reorganization cases

i. Weiss (  not a material difference if you give stock in new corporation when you reincorporate in same state

ii. Phellis and Marr ( material difference if new corporation is incorporated in different state; different rights and privileges of stockholders in different states even if no cash received

f. Original Issue Discount (OID) Provisions ( bond purchased below the issue amount, then the law tries to tax you on that return throughout.   section 1272(?)
i. Market discount is the difference between the purchase price of a bond and its stated redemption price at maturity. In the case of a bond sold with original issue discount (OID), such as a zero-coupon bond, market discount is the difference between the purchase price and the issue price of the bond plus accreted OID. Accreted market discount is taxed as ordinary interest income in the year a bond is sold, redeemed or transferred. 
ii. If a contract is a debt instrument with OID, section 1272 generally requires the holder of the contract to include OID in income currently on a constant yield basis, regardless of the holder’s overall method of accounting. By contrast, §72 annuity contract allows to deferral of  income until distributions are made on the contract. 
V. Realization Policy

a. Horizontal equity ( people with stock don’t pay taxes, while other with equivalent net worth do if there earnings are in different form
b. Vertical equity ( people who own stock will pay less than wage earners.  Poorer wage earners will pay tax on $100 in wages, but wealthy stock owners aren’t taxed on $100 value gai
c. Ex ante perspective (incentives to buy growth stocks  rather than dividend gaining stocksUnequal treatment of similar investments (power point slide
d. Ex post perspective (
i. Lock-in effects: want to hold onto appreciating assets, even if asset with higher rate of return is available
ii. Makes holding period important for evaluating transaction
iii. Timing option ( tax payers have option to decide the timing of realization; sell to trigger loss earlier, trigger gains later
iv. Built in loss  ( creates incentives to sell securities to achieve built-in loss for tax purposes
e. Government as co-investor ( government is bearing part of your loss if you lose from an investment
f. Complexity
i. more simple because only one valuation at the end
ii. Rule Comlexity creates need to hire tax professional
iii. Compliance complexity ( how many forms to fill out; how many people to engage to value asset
iv. Transactional complexity ( reward taxpayers who plan transactions carefully
g. realization as a subsidy for investment
i. Only an incentive for people who have excess income to invest
ii. hidden subsidy: NOT included in tax expenditure budget
iii. Huge decline of marginal tax rates over time dilutes subsidy
h. Alternatives 
i. Tax returns on savings at higher rates (might get at some of asymmetry of timing option)
ii. Approximate return model ( Approximating assumed rate of declined for assets.  
iii. Retrospective approximate ( Look at ultimate sale price and assume even gains over time; Annualize gain back over years
iv. Tax only assets with readily available market value-Line drawing problems, disincentives for issuers to go public

Annuities and Life Insurance

I. Annuities: §72
a. Contracts requiring payments of specific amounts over time

i. Life annuity ( pays for rest of life (or pays heirs for set period)

b. Insurance contract ( payment today in return for single large payment some time in the future

c. General Rule - §72(a): except as provided in other parts of the chapter, gross income includes any amount received under an annuity, endowment, or life insurance contract. 
i. taxed as the annuitant receives payments (not as interest accrues)
ii. Mortality loss: death before reaching expectancy
iii. Mortality gain: outlinving expectancy
d. Exclusion Ratio - §72(b): the portion of the payment that corresponds to the initial investment is excluded.

i. Numerator: the investment in the contract

ii. Denominator: expected return. 

iii. Total exclusion limited to amount invested
iv. Example: pay $70,000 for something that pays $10k/year for 10 years.  70% exclusion ration ($70k/$100k)
e. §72(b)(3) ( Loss claimed on unrecovered basis
f. 10% Penalty for premature distributions – § 72(q)
i. there is a 10% penalty on early withdrawals from annuities. 

ii. EXCEPTIONS : payments after age 59 ½, payments made after death of holder, after taxpayer becomes disabled

iii. 72(q)(3) ( penalty for modifying payments before age 59 ½ (or 5 years after first payment, whichever sooner); tax is adjusted
g. Deferred Annuities

i. This is where taxpayer purchases an annuity with payments to begin at some future point. During the period between purchase date and beginning of payments, interest accrues on the annuity and typically insurance companies treat it as a return on purchaser’s investment. The interest is not taxed to the taxpayer as it accrues, but rather is taxed as taxpayer receives payment.  (§72(b))

h. Other approaches to annuity

i. Recovery the basis first
ii. Treat it like a bank account

iii. Tax the gain first, and do basis recovery afterwards.

II. Annuity policy

a. Annuity drawbacks

i. Need for liquidity ( 10% penalty for early withdrawal

ii. Some long term risk that you won’t get paid (no FDIC insurance)

iii. Other investments may still have a better return than 

1. annuity companies can invest in stock market

2. “loading fees” and transaction costs of using the intermediary

iv. requires capital up front (which some people don’t

b. Cons for approach to annuities ( 

i. Vertical equity issue ( wealthier people often more able to take advantages of this

ii. Horizontal equity issue ( people with annuities will do better

iii. Transactional complexity ( need to plan for all this

c. Pros for annuities

i. Provides safe investments for retirees (payments are fixed)

ii. No risks of market fluctuation

iii. Offset Mortality risk ( risk that you outlive your assets; annuities pool that risk
III. IRA/Roth IRA Equivalence

a. IRA/401(k) ( No tax as the income is earned over time; when you withdraw the funds, it’s ordinary income
i. 401(k) retirement savings plan in employer/employee context

ii. IRA is retirement savings plan that is outside the employment context
b. Roth IRA ( put in after tax income (no deduction).  Accumulation is tax exempt are entire amount of withdrawals.
c. Equivalence
i. IRA value upon withdrawal = deposit *(1+r)^(1-MTR)

ii. Roth IRA value ( Deposit *(1-MTR)*(1+r)^y

iii. Assumptions ( deposits are the same on a pre-tax basis (i.e., you put in more pre-tax dollars, invested at same interest rate, marginal tax rate will be same at time of deposit as time of withdrawal
iv. NOTE: often MTR at retirement is lower, so better to be taxed then
d. Fruit and Tree analogee
i. You can give half of the trees to government at the beginning, but you can keep all the fruit (Roth IRA)

ii. You can keep all the trees, but give half of the fruit to government later on (401(k)/IRA)

e. Consumption/wage tax equivalence
i. IRA = consumption tax ( allows deduction for cost of savings/investment 
ii. Roth IRA = tax on labor but not capital ( exempting return on savings/investment 

iii. NOTE: Hybrid income/consumption tax: Reducing tax liability on income from savings is move towards consumption tax

f. NOTE:  IRA savings materials are “above-the-line” deductions 
g. There are penalties on pre-retirement withdrawals from these vehicles

i. Exceptions under both (more liberal under Roth)

ii. Roth is more favorable under estate tax regime
IV. Life Insurance: 101(a)(2)
a. General Rule Exclusion (§101(a)(2)): The basic rule is that amounts paid “by reason of the death of the insured” are not subject to income tax- regardless of the amount of gain that actually may be involved. Thus, the interest earned on savings through life insurance, or any other return on the taxpayer’s investment, and the portion of proceeds representing the amount covering the life insurance risk, are free of income tax if received by reason of the death of the insured.  
i. No tax on mortality gains

ii. No deduction for mortality losses

b. §7702: this section defines life insurance contracts, and was added in an effort to limit the preferential treatment of life insurance proceeds to cases where an insurance element is genuinely present. 
c. Elements of Life Insurance

i. Term Insurance: the insured or someone else pays a premium in return for which a specified sum will be paid to his survivors in the event of his death. 

ii. Savings Element: The size of the savings component relative to the pure insurance component varies. In some life insurance contracts (such as one of five year term policies) the savings element is small; in others (such as whole life policies) the savings element may be large. 

d. Types of Life Insurance Plans – see page 168 of casebook for more

i. Ordinary Life Insurance: involves the payment of a uniform annual premium throughout the life of the insured and matures at death. 

ii. Universal Life Insurance

iii. Variable Life Insurance
iv. Modified endowment contract ( Life insurance contracts funded more rapidly than they need to be; more of a savings vehicle
1. If you cash out MEC, it’s like a pre-requirement withdrawal from annuity ( tax code is harmonizing the two vehicles

e. Reasons to buy life insurance if you’re not worried about dying 

i. Still value concern a little bit

ii. More stable savings vehicle

iii. Liquidity: allows owners of closely held business to afford estate tax w/o selling business

iv. avoids probate: get money quickly; no forced share for spouse

v. Tax deferral if you want to cash out before death (?)
f. Pros and Cons of tax treatment of life insurance

vi. Encourages purchase of insurance, which privatizes the safety net for spouses/families of decedents

vii. MCE distinction creates complexity

viii. Tax payers who are more sophisticated will use it to their advantages

ix. Vertical equity:  incentives more valuable to high income people
g. Social security: Largest source of life insurance
i. Annuities: about half of SS payments are not paid to worker making payments; surviving spouse in retirement (joint survivor annuity)
ii. SS system may create value losses by forcing people to save

iii. Private account system may create social loss due to adverse selection

iv. solution ( keep some annuities in SS system w/ private account; mandate annuitization for a portion account (poverty level annuity)
v. social security insures against low income risk; system is redistributive

1. older people who made less income still get retirement benefit

2. less redistributive ( low income people (who are disproportionately people of color) tend to live less long,

h. Risk comparison

i. Inflation risk ( only secured against by social security

ii. Investment risk ( annuities and life insurance both cover this
iii. Mortality risk: Annuities insure against risk you live too long, Life insurance does the opposite

TRANSACTIONS INVOLVING BORROWED FUNDS
I. In General

a. Borrowed funds are NOT INCOME

i. No express statutory authority; Judicial authority
ii. Increased cash flow offset by debt liability

b. No deduction for bank loaning money (no net worth change)
c. No deduction to borrower for repayment of principal 

d. Deduction for some interest payments

e. General Rule: A borrower does not realize income upon the receipt of a loan, regardless of how the loan proceeds are used. 
II. Borrowed vs. Stolen funds
a. For something to be considered borrowing there needs to be mutual understanding between the borrower and the lender of the obligation to repay and a bona fide intent on the borrower’s part to repay the acquired funds. (Collins v. Commissioner/James v. United States)
i. No real statutory authority, though this could be inferred from §61(a)(12), and this applies whether the borrowing is for business or personal use. 

ii. Collins( OTB employee places who bets on own behalf and loses, has net income of $38,000 (net amount he owes OTB).  This was NOT a loan because no mutual understanding .  Collins has $80,000 in income, but he gets to deduct the $42k he put back in the draw as restitution payment

1. Theft issue: Better off by $38,000 thank someone who took $80k to the track and lost it all

b. ASIDE:  deduction of gambling losses: § 165(d) ( Gambling losses can only be sued to offset gambling gains (“basket”).  Collins would get deduction for every restitution payment made in the future
c. Collins Embezzled funds ≠ Borrowed Funds → This DOES count as income on which taxes are due. (Collins v. Commissioner)
i. Gilbert Case: CEO uses corporate funds to buy stock for himself to accomplish takeover/merger; Can’t turn something into a loan after the fact.  Court held it was a loan, because he thought it was. [can I get a better summary?
d. Nexus of tax law and criminal law


i. Rutkin: Majority Holding: extortionists have to report their funds as income.  BLACK  dissent: decision gives Washington more and more power to punish purely local crimes!
ii. Pros:  more deterrent, incentives for restitution (tax deduction); another way to catch criminals; Horizontal equity: criminals pay taxes like honest people
iii. cons: more federal power
1. IRS can go after criminals, even if they’re acquitted
2. deterrent may be fictional ( people worry about getting caught stealing, not taxes
3. thieves tend to spend; this system might actually create incentives not to hold onto $$
4. prioritizes tax over victims: Pay taxes with $ that could’ve gone to victim
iv. Deduction for Restitution of stolen funds( value depends on spread between marginal tax brackets and timing of restitutions (in same year to offset higher income, or following year)
1. incentive is only partial value of stolen funds
2. vertical equity issues ( high income thieves have incentive to wait to do restitution
III. Cancellation of Indebtedness (COI): §108
a. General Rule - §61(a)(12): Gross income includes income from discharge of indebtedness. 
i. Example: Company sells $1,000,000 of bonds; buys them back in bond market at $300,000.  This is $700k income
ii. Rationale: net worth freeing of assets.  $1 million received from loan count as income, because we assume they’ll pay it back.  Once they don’t have to pay back it’s income.  
b. United States v. Kirby Lumber
c. §108(d)(1) ( Indebtedness of taxpayer 
For purposes of this section, the term "indebtedness of the taxpayer" means any indebtedness – (A) for which the taxpayer is liable, or  (B) subject to which the taxpayer holds property
d. Reg. §1.61-12(a): “may” result in income
i. Cancellation of debt in consideration for services is income

ii. Payment or purchase of obligations for less than FMV is income
iii. Corporate debt gratuitously forgiven by shareholder counts as capital contribution to corporation  for principal (not interest?) 

e. §108(a)(1)(A) ( bankruptcy exclusion
i. Bankrupt company that buys back $1 million in bonds for $300k excludes all $700k of indebtedness income 
ii. §108(b) ( collateral tax consequences: have to apply $700k against net operating losses
f. §108(a)(1)(B): insolvency exclusion
i. §108(a)(3): exclusion amount can’t exceed insolvency 
g. 108(b)(2) order of Reduction of tax attributes: NOL, general business credit, minimum tax credit, capital loss carryovers, basis 

i. Not entirely forgiving this income, just deferring it.

ii. Charge taxes by reducing basis in future sales (NOTE: can’t have negative basis)
h. Zarin v. Commissioner: Gambler defaulted to casino for $3.5 million, and settling for $500k. Tax Court held that discharge of $3 million was taxable under § 61(a)(12), and that losses were deductible under § 165(d) only to extent offset gains for that taxable year. 3rd circuit reversed: loan (extension of credit) was unenforceable under NJ state law and thus Zarin could not have income from the discharge of a debt. 
i. Disputed debt theory (winning theory in 3rd Circuit): because the amount of debt was disputed, there was no real income.  The settled debt was the amount of debt (valuation method).

ii. tax court rejected the argument, because has agreed to and intended to repay the full amount, and he received the full value for what he agreed to pay

iii. JACOBS dissent’s strange focus on chip income: all the chips are gambling winnings; you can net gambling loss against them

iv. NOTE: Where the original consideration for the borrower’s debt is not cash equal to the face amount of the debt, court has a harder time determining if there is cancellation of indebtedness income. 

i. 108(e)(5) ( debt purchase price adjustment: 

i. Example: buy building for $2 million with loan from seller; $500k on asbestos removal.  Seller forgives $500k in debt; lower basis to $1.5 million
ii. Zarin argued that settlement was a purchase price adjustment that doesn’t give rise to income from discharge of indebtedness.   court says that the chips aren’t property, and they can’t fall under this section.  Alsothis provision doesn’t allow fof insolvency: 108(e)(5)(B)(ii)
j. Policy: Make sure creditors get paid before the IRS gets paid
i. COI is considered “phantom income.”  It seems harsh to hit somebody with a tax burden when they are in trouble
ii. Bankruptcy is seen as allowing company to move on.
iii. BUT lessens incentives to avoid bankruptcy
iv. Code is more sympathetic in this system than embezzlement or gambling debt forgiveness
IV. Real estate and Debt (Tax shelters)
a. Nonrecourse debt: creditor can only foreclose on particular asset
i. If asset value drops below face value of debt, allow foreclosure
ii. call option: ( bank owns the building, and buyer has a call option to effectively pay balance of loan when the debt matures
iii. Interest and principal paid on the loan in the interim is really like an option premium
iv. Risk sharing device ( bank is taking the risk of loss if asset depreciates; amount of risk determined by equity cushion (how much money buyer puts into the building, i.e., buyer’s total risk) 
v. incentives for lending on nonrecourse basis: higher interest rate, participation interest, higher fees
b. depreciation ( recovery of basis over time: 3 things to note:
i. Exception to realization requirement ( lets you claim a loss w/o realizing a loss
ii. Reduces basis
iii. Code provisions are more favorable than economic depreciation:
1. accelerated recovery: less time than real depreciation

2. straight line: should be less in earlier years and more in later)
c. Crane v. Commissioner( Crain inherited a building subject to nonrecourse mortgage worth value of building. She made no payments on mortgage, sold to buyer for $3k cash & buyer takes subject to nonrecourse debt.  She had deducted 1/10 of building for depreciation.  Court holds she must include unpaid balance of mortgage in amount realized on sale.
i. Just because debt wasn’t absolutely enforceable doesn’t mean buyer wasn’t obligated to pay it.
ii. Purchase money debt counts in calculation of basis and amount realized in sale.
iii. recourse and non-recourse debt treated alike, loan included in basis
iv. Effects: increases and accelerates amount of depreciation deductions allowed to owners of property financed through debt (get depreciation deductions even if you used debt to finance property).

v. Loophole ( court doesn’t say what happens if owner lets somebody else take the building for market value which is less than the mortgage.
vi. IRS litigation strategy didn’t challenge the idea that Ms. Crane could include its nonrecourse debt in basis.  Ms. Crane had already taken the depreciation deductions, which were beyond statute of limitations; trying to recoup taxes.

d. Alternative regimes:
i. “equity-only” regime: exclude all debt from basis and amount realized.  Limits both depreciation and loss to amount of equity:

1. might not be able to deduct actual wear and tear.

2. If asset depreciates a lot, unable claim a loss.

3. Vertical equity problem: tax windfall for people with the cash to take advantage of it.

4. Pros: Eliminates tax shelter opportunities.  No depreciation up front w/o use of after tax money (gains from time value of money on deductions taken before realization).
ii. Joint venture analysis (Tufts fn. 5): Gradually shift basis from the lender to the borrower as the borrower pays off the debt.  Complicated to administer and doesn’t exactly fit.  The bank is not really the owner, especially if it is recourse debt; hard to splitting economic interest in the case of lender and borrower.

iii. exclude nonrecourse debt from basis and amount realized
1. Prevents a huge tax shelter opportunity: no “purchasing” assets without risk, and then taking depreciation deductions..

2. BUT line between recourse and non-recourse debt might be too hard to administer; replicate non-recourse debt with something that is nominally recourse debt.

e. Simple tax shelter ( buy building for $300 w/ recourse debt when FMV is $200.  Take $300 in depreciation deductions to offset regular income ($210 at 70% MTR) and pay 15% interest ($45).  Amount realized on foreclosure is $200; pay $60 in taxes (30% cap gains rate).  Tax benefit is $105.  Meyerson.  Even if you include $300 realized, you still gain $75.

f. Commissioner v. Tufts ( The partnership bought a property for $1.9 million ($50,000 and took on $1.85 nonrecourse loan); sold for $1.4 million with basis for $1.45 million; took $50k loss (amount realized should be capped at fair market value since can’t lose any more with nonrecourse debt.  Court Held nonrecourse debt counts in calculating the taxpayer’s basis even when the debt exceeds the fair market value of the property sold: $400k gain.  
i. Tax benefit theory: didn’t get any economic benefit beyond the 1.4 million, but got tax benefits out of it; prevents claiming deprecation tax loss without corresponding economic loss.
ii. Ignoring economic reality on both ends in a consistent way.  Source of the deductions is including the non-recourse debt in basis under Crane.

iii. Tufts still had the benefit of deferring the income and getting taxed at the preferential capital gains rate.

iv. O’Connor concurrence: two components to this transaction, which should be treated in two steps: (1) capital loss of $50K and (2) $450K of cancellation of indebtedness income ( overall inclusion of $400K at the normal tax rate; removes conversion benefit.

v. Reality: the government ultimately took the loss because it insured the S&L.

g. Reg. § 1.1001–2 requires that you bifurcate for recourse debt (O’Connor approach).  If your recourse debt exceeds the fair market value and it is discharged at the time of the sale, the excess is treated as cancellation of indebtedness income.
h. Estate of Franklin v. Commissioner: Romneys sold a Thunderbird for $1.2 million (10 year non-recourse note).  Prepaid interest at $75,000.  Annual interest payments of $110,000/year offset leaseback to Romneys, who would be responsible for repairs, upkeep, etc.  $1 million balloon payment if they wanted to keep the hotel.  Purchasers tried to take depreciation deductions.

i. Tax Court ruled against partnership based on option theory: no interest deductions/depreciation when you only have option at end.

ii. 9th Circuit holds against the partners

1. Depreciation:  Three is no risk of downside; Romneys are bearing all of the economic depreciation

2. Debt issues: No opportunity costs in this arrangement. No real debt obligation on nonrecourse debt that greatly exceeds the value of property
iii. Valuation is key for 9th Cir: extent to which the purchase price overvalues the property make it look like an option:

1. nonrecourse debt
2. financing from seller ( very important for overvalued debt. 
3. more likely to be a genuine sale when there is some equity in the property
iv. Eliminates potential for creating value by selling items up front with nonrecourse debt.
v. Estate of Franklin is really about whether you get to include debt in your basis up front: answer is NO if it’s unreasonably high
i. Rev. Rul. 77-110: an inadequately secured nonrecourse loan generally is too contingent to merit characterization as indebtedness and hence will not allow any portion of the loan to be considered an acquisition cost includible in basis. 
j. Rev. Rul. 78-29: a loan should not increase basis where it is unclear whether the borrower will ever actually make principal payments. Contingent liabilities not included in basis until payment is made.
V. Tax Shelters Summary
a. deal done by very smart people that absent tax considerations would be very stupid
b. Crane includes nonrecourse debt in basis ( Tufts includes in realization even if higher than market value of property ( Franklin transactions with little money down, overvalued property and financed by nonrecourse debt from seller are options (no tax benefits of ownership) 
c. Huge issue pre-1986: Nobody paid tax at rate of 70%; everybody put it all in tax shelters; HUGE revenue losses; deadweight losses
i. NOTE: Capital gains tax and depreciation deductions were legally intended tax shelters which were abused
d. Judicial reform was largely ineffective:  denying all the deductions if he found the deal was bad
i. Only loss was tax benefits
ii. Still profitable if done at fair market value
iii. Audit lottery: low probability of being caught
iv. Private defense resources outweigh government resources
e. Congressional intervention: Preserved tax benefits, but attacked deals that had the hallmarks of a tax shelter:
i. nonrecourse debt
ii. overvaluation
iii. excess of income from investment
f. Provisions to reduce tax shelter benefits (basketing approach)
i. At-risk rules (§465) ( purchase money nonrecourse debt financing: limit availability of deductions to income from outset and only to the extent of your equity in the investment – can’t offset ordinary income
ii. Passive Loss Rules (§469) ( Passive activities are those in which you don’t really participate; partners aren’t materially participating: another basket: passive activity can only offset passive income
g. recapturing depreciation deductions and eliminating conversion benefits (§§ 1245-1250).  

i. Gain on sale that is attributable to depreciation deduction is treated as ordinary income
ii. Carry forward ( can start using up passive losses if you have more passive income in later years
Deduction Themes
a. Like exclusions: don’t pay tax on itmes; value based on marginal tax rate

b. Valuation issues

i. Distinguishing between business and personal consumption

ii. Fringe benefits ( how much is business value, and how much is personal value?  Benaglia
c. What can you deduct?  How much of it?
d. Realization  and Basis recovery ( Really motivated by valuation concerns.  Mark-to-market is too hard to administer.
i. Tax on transactions, not really on income per se
ii. w/o realization, tax things when consumed, so no basis issues
iii. Hard to tell when realization occurs (Macomber, Cottage Savings)
iv. Hoard illustrated difficulties in determining basis recovery

v. Crain, Tufts, Franklin ( what is the value of non-recourse debt.  How much should be included in basis and not realized?

1. Would tax shelter be feasible if there was no realization (i.e., if there was mark-to-market regime)?

2. Illustrates how hard it would be to implement mark-to-market regime

e. Managing complexity in tax law: useful vs. wasteful
i. Forgiveness of indebtedness

ii. Realization rule (not really in the code)

iii. Convenience of the employer standard (not in the code)

iv. Transactional vs. rule vs. compliance complexity

BUSINESS EXPENSES
I. In General

a. Personal vs. business expenses

b. Capitalized expenses vs. immediate deduction.  Depreciation and amortization turns on when you recover basis

i. Yielding benefits beyond a year are usually capitalized

ii. Benefits w/in a year is generally immediate deductions

c. Policy ( measuring net income (accretions to wealth), rather than gross income.  Expenses of producing income are subtracted

d. §162(a): ordinary and Necessary ( Deductions [by businesses] are generally allowed for ordinary and necessary expenses paid or incurred during the taxable year in carrying on any trade or business, including:

i. Salaries for employees

ii. travel expenses

iii. rentals or other payments required to be made as a condition to the continued use or possession, for purposes of the trade or business
e. §212: individuals permitted to deduct ordinary and necessary expenses stemming from income-producing activities which do not qualify as a trade or business. 
i. Three types of expenses covered: (1) for the production or collectin of income; (2) management/conservation/maintenance of property held for production of income; (3) determination/collection or refund of any tax.

ii. Only applies to individuals; must have itemized deductions that exceed the standard deduction to take advantage of §212 expenses. 
iii. deductions attributable to rents and royaltiesh are deductible from gross income in determining adjusted gross income §62(a)(4)

iv. §212 expenses are miscellaneous itemized deductions, and are thus subject to the 2% limitations under §67.
II. Ordinary and Necessary, Business Related
a. Welch v. Helvring: Ordinary and Necessary ( ordinary is needs to be something ordinary in line of business over all; not erratic but within a known type (not necessarily common recurrence for specific taxpayer)
i.  Welch was secretary of a grain company; he helped pay the debts of the company and tried to take it as a deduction.  Court held these were NOT DEDUCTABLE because they were extraordinary expenses
ii. Necessary ( means appropriate or helpful (not focus here)
iii. normal people in this line of business don’t pay off the debts of their old companies


iv. problems with Welch test: first of its kind expenditures may suffer, lack of judicial expertise
v. Case is really about capitalization: Should they apply predecessor to §263.  Is this really a capital expenditure to build up good will?
1. Good will is generally considered an intangible asset of a business

2. but could be taken too far:
vi. Chirlstein ( case full of “soggy philosophy”

vii. Generally taken to mean to look out for whether this is an expense which is business or personal for the payor

b. Gilliam v. Commissioner: “origin of the claim” test.  Famous artist with history of mental illness was flying for business.  During the flight, he had a breakdown, tried to escape from plane, hit another passenger. Tried to deduct legal fees form criminal as well as civil cases.  Court held that expenses were NOT business related
i. Did the litigation arise in the business context or not?  Even criminal case could be deductible as long as it originates in a business context.  It doesn’t matter if you’re convicted

ii. Dancer ( driving car from horse-training facility to his farm.  On the way he got in a crash, and he injured a child.  We allow people on business trips to deduct expenses that would ordinarily be personal (e.g., meals), but again this is not so distinguishable from Gilliam
iii. Responsibility and personal needs: precedent seems to say that mentally ill people are personally responsible

iv. Hard to find determinative factors for business-related

c. Tellier: Criminal defense ( Broker convicted of securities law violation.  Allowed to deduct costs of defense as necessary and ordinary for business.

i. doesn’t differentiate between legal and illegal conduct

ii. Directly related to his business
iii. Rejects argument for denial of deductions on public policy grounds
iv. Supreme Court ( tax is a tax on net income, not a sanction on wrongdoing.  No public policy is offended when a man faces a serious criminal charge and employs a lawyer to assist in his defense.
v. If we’ll tax illegal income, why wouldn’t we take deductions for expenses related to that income?
vi. Is there a difference between business crime and personal crime?

vii. Difficulty in drawing this line is why these cases seem so incoherent

d. Sullivan: Illegal activity ( can deduct rent and wages paid by a gambler

e. Denial of deduction for public policy:

i. Tank Trucks ( Denies business deduction for fines incurred for violating PA restrictions on truck weight and paying fines (cheaper than going around).  This was universal industry practice.  PA state agency treated fines as business expense, but court held that deduction cuts against PA policy.
1. NOTE: Economic penalties vs. legal fees:  Economic penalty shouldn’t depend on income; fine bears reasonable relationship to conduct.  Making the fine nondeductible penalizes them in proportion to their conduct, and not in proportion to their marginal tax rate.  NOTE: more ordinary part of business than securities fraud
ii. Reg 1.162-1(a) ( No more denials of deductions on public policy grounds “A deduction for an expense . . . which would otherwise be allowable under §162 shall not be denied on grounds that allowance of such deduction would frustrate a sharply defined public policy.”

vi. §162: Statutorily forbidden deductions
a. §162(c) Illegal payments

1. §162(c)(1) Bribing an official is not deductible 

2. §162(c)(2) Hiring a hitman  is NOT deductible; any other illegal payment under any law of the US or any law of state 

3. §162(c)(3) kickbacks, rebated and bribes under medicare/medicaid

b. 162(e) Lobbying activities

4. 162(e)(2): exceptions for local legislation (if you’re in the business)

5. 162(e)(5)(B) de minimis deductions for lobbying state and federal legislators, unless it’s de minimis (<$2,000

6. 162(e)(1)(C) Advertising to the general public is not deductible 
7. Reg 1.162-70 allows deductions for general goodwill advertising (How wonderful moonshine really is)
c. 162(f): fines and penalties
d. §280E drug sales: tax drug dealers on gross income instead of costs of drugs themselves; Pure politics and public policy call (doesn’t fit into general approach of the code in this area)
III. Employee Compensation

a. Exacto Springs: Reasonable Salaries ( Closely held corporate paid founder, CEO and majority shareholder (Heitz) over $1 million/year.  Posner imposed independent investor test:
i. §162(a)(1) deduction includes “reasonable allowance for salaries”

ii. POSNER’s Independent investor test ( presumptively a reasonable salary if investors are getting more that a market rate of return

1. Old test turns on valuation of employee services.   

2. New valuation issues for “reasonable rate of return.”  
iii. This case was an easy kill ( IRS expert agreed that 13% is reasonable rate, and they were getting 20%.  It might be tougher when you don’t have that expert
b. Independent investor test is a presumption: can be overcome

c. Unreasonable compensation might be a disguised dividend so corporation can have tax deduction 

i. Partnership flow-through taxation: all income is allocated to each of the partners and only taxed once

ii. Corporate double taxation: corporation is taxed on profits, and individuals are taxed on their dividends. 

d. 162(m): limit of $1,000,000 for covered employees (CEO and top 4 employees) of publicly held companies.   Exceptions for performance based compensation
e. Policy: corporate governance concerns; Keep CEO compensation in check; keep top executives from taking money off the top of the company; Prevents managers from extracting really big salaries when there is insufficient monitoring (agency cost issues)

i. Probably NOT about disguised dividends ( no requirement the covered employees actually own any stock

ii. Tax Penalty; Not about measuring net income/ability to pay

iii. information forcing provision: draws attention to salaries because of requirements of performance-based structure and compensation committee

iv. Push towards more stock options as compensation

v. If company is in a loss position, penalty costs nothing

f. Performance metric ( possible that CEO could be paid a great amount under one of these performance-based metrics just because we’re in an economic boom

g. Ultimately, empirical question if this is effective.  
h. Salary Inquiries: Is CEO a shareholder?  What % does she own? Who owns the rest of the stock?  How well is the company doing? Was salary voted on by shareholders?  Have dividends been distributed?

i. some circuits say presumptively disguised dividend if no dividends
i. Corporate Dividend (dis)incentives: 

i. In theory lower value of stock.  
ii. Stockholders Can defer paying tax on higher valued stock until realization.
iii. Until 2009, dividends are taxed at the same rate as capital gains.  

iv. closely held context: harder to sell stock, so investors want dividends
j. Steps for company to take:
i. Performance-based compensation in employment contracts

ii. Document average rate or return

iii. Document what CEO does

iv. Have other shareholders approve salary (without CEO’s vote)

v. Document lack of relationship with other sale holder

vi. Document that salary is not in proportion to other shareholders

vii. Outside 7th cir ( document whether dividends have been paid

viii. Publicly held company ( go back to 162(m) and put in procedures

k. Agency costs are information asymmetries: Shareholders don’t have info on what managers do and consequences of their actions

Business vs. Personal Expenses

I. Introduction

a. Basic problem: very rare for a personal expense not to help produce income; rare that business expense does not contribute to personal expenses.
b. Ideally ( divide expenses between personal value and business value

i. Subjective

ii. Tax payer likely to deny personal benefit

iii. Total value might be more than price 

c. Halpern ( find out personal value and reduce deduction to extent of personal value: Administrative concerns, Tax payers vary widely

d. System is not coherent: cases are very fact specific

II. Employee Business Expenses
a. §62(a)(2) authorizes employee trade and business deductions
i. 62(a)(2)(A) ( reimbursed expenses: reimbursement is not dispositive in determining deductible
ii. 62(c):  employee must provide substantiation to person providing reimbursement and cannot be reimbursed for mare than deductible expenses
iii. 62(a)(2)(B): rule is inapplicable to performing artists whos employee business expenses are deductible in computing AGI
iv. 62(a)(2)(C): expenses of state officials
v. 62(a)(2)(D): elementary and secondary school taeachers, not in excess of $250 in connectsion with books, supplies, computer equipment
b. Reg 1.162-6: dues to professional societies
c. § 274(a)(3) ( membership in a club (even a business club) not deductible
d. §132(d) ( employer can deduct “working condition fringe” that employee could deduct under 162.
III. § 67 ( 2% Floor
a. §67(a) “Miscellaneous” itemized deductions allowed only to extent they are greater than 2% of AGI
b. §67(b) exceptions: investment and home mortgage interest (§163), state and loacal taxes (§164), theft and casualty losses (§165(c)(2), (3)), gambling losses (165(d)) charitable deductions (§170), unreimbursed medical expenses (§213), unrecovered investment in annuity if payments stop early (§72(b)(3))
c. Administrative arguments ( don’t keep small receipts

d. Equity issues: Floor is proportionate to income

e. Compliance complexity issues; lack of transparency

f. Subsidy for independent contractors; don’t have to worry about this limit

g. Seems to be pushing in direction of employers reimbursing and providing benefits in kind: companies can deduct under 132.

h. Disallowing a portion of expenses may be encourage cutting back consuming certain things as business expenses, because they won’t be more than 2%.  Won’t want to incur expenses you don’t value at all to get above 2% floor

IV. § 68 ( 3% haircut:
a.  for people making over $100k, itemized deductions are reduced by 3% of AGI over $100k
b. 68(a): In the case of an individual whose adjusted gross income exceeds the applicable amount, the amount of the itemized deductions otherwise allowable for the taxable year shall be reduced by the lesser of 
i. (1) 3 percent of the excess of adjusted gross income over the applicable amount, or 
ii. (2) 80 percent of the amount of the itemized deductions otherwise allowable for such taxable year. 
h. §68(c) exceptions: no 3% haircut for unreimbursed medical expenses (§213), investment interest (§163(d)), gambling losses(§165(d)) and casualty losses (165(c))
i. Calculating the effect of haircut on marginal tax rate ( for each dollar you earn over $100k, you lose 3 cents (3%) times marginal tax. If MTR is 35%, you lose $.0105.   MTR becomes 36.05%.  this continues until you get to 80% of your itemized deductions
j. Haircut phased out in 2009, will return again in 2011
k. Policy: 
i. same issue of cutting back on unreimbursed employee business expenses

ii. Vertical equity issues ( people at higher salaries have more opportunities to take these deductions

iii. Way of increasing highest marginal tax rate without nominally creating a higher MTR; politically motivate
V. Clothing: objective 3 part test

a. Donnelly v. Commissioner 3 par test Clothing is only deductible if:
i. Clothing is of a type specifically required as a condition of employment
ii. It is not adaptable to general usage as ordinary clothing
iii. It is not so worn
b. Rev. ruling B-474
c. Pevsner v. commissioner:  Manager of Yves Saint Laurent boutique has to buy YSL clothing to wear to work
i. Tax Court took a subjective view.  She wasn’t using the clothing because it didn’t fit her lifestyle
ii. 5th Circ: Not adaptable is an objective test
d. Equity issues of subjective test
i. Vertical equity ( more affluent people buy more nice clothing for work
ii. Horizontal equity ( people who are more clever with tax code will get to deduct more 

e. Compare with Benaglia, in which the employee was required to live and eat at the hotel
i. Benaglie was trying to exclude the value as income
ii. Pevsner is trying to deduct what she spent; she can re-sell clothing

f. NOTE: Scope of clothing deduction could be huge; everyone has to wear clothing.  Not everyone lives in hotels
g. horizontal equity issues: some firms requires suits, some don’t
h. Moral hazard problem ( people might sneak in personal consumption if they can deduct (Armani instead of Macy’s)
VI. Child Care Expenses: § 21

a. Smith ( 2-earner couple deducts for nursemaids.  COURT: Not deductible.  Argument that they wouldn’t have needed child care but for work was overbroad.  Child care as inherently personal and not deductible
b. Inefficiency in denying the deduction ( more parents will stay at home because it’s a tax preferred scenario.  
c. Disproportionate impact on women: more likely to drop out of labor force than men
d. Policy question: Is having kids a form of personal consumption or an exogenous shock that needs to be handled?
i. Subsidizing having kids?
ii. Favoring stay at home moms over child care?

iii. Should we treat children differently for high-income and low-income people?
e. §21 (tax credit for 35% of child care expenses.  Reduced by 2% for every additional $2000 in income over $15k, down to 20%
i. Limit is of expense $3,000 for one dependent; so deduction limited to $600 for one kid; $6000 ($1200 deduction) for more than one
ii. Rationale for credit ( work incentive

iii. But it only encourages middle and upper income people to work

vii. §129: employer provided child care 

iv. Can exclude up to $5000/year  if provided by or covered by employer

v. Maximum credit under §21 is reduced by exclusion under §129
VII. Commuting 

a. 1.162-2(e) ( commuters fairs are NOT deductible
b. Flowers someone lived in Jackson, MI and commuted to Mobile, AL. Court denied deduction for travel expenses between the two cities.  “Expense must be incurred in pursuit of business.”  Flowers rule is bright line ( more administrable than subsequent cases
c. Fausner ( Followed Flowers rule.  disallowed deduction for commuting costs of commercial airline pilot who claimed he needed to drive to work to transport overnight bag and flight bag.  He would have driven to work same route anyway.  Left open narrow small window: could deduct extra transportation costs of bringing implements to work.
d. McCabe( NYC cop had to carry a gun and couldn’t pass through NJ; denied deduction despite extra costs of taking circuitous route.  
i. Expenses are NOT deductible

ii. Revenue ruling 75-380 ( For additional expenses to be deductible the taxpaery must first establish “the necessity of transporting work implements to and from work.” 
1. “necessity” means that taxpayer must establish that the additional expenses were appropriate and helpful to employer’s legal business and not personal in nature
ii. Fausner exception only applies if you incur additional costs: difference of costs of transportation with or without the tools

iii. Revenue ruling 75-380: Allows deduction “for only the portion of the cost of transporting the work implements by the mode of transport used which is in excess of the cost of commuting by same mode w/o implements.”  Costs of renting a trailer behind the car would be deductible.
iv. DISSENT ( he should not be taxed on his additional costs of commuting; taking longer route for his gun.
e. causation problems ( if it’s personal choice, we don’t deduct; personal choice where to live, but not wee to work
f. Circumstances that make the Flowers rule less than ideal:
i. Police officer can’t afford to live in Manhattan
ii. Dual earners don’t live near each other
iii. Nuclear testing facility ( how could you live there?
iv. NOTE:  There are NO EXCEPTIONS to the Flowers rule
g. Pollei v. Commssioner: cops can deduct driving costs when they leave the house; they’re on patrol the whole time.  Clearly tried to distinguish police case as exception to the rule
h. Traveling separately requirement (Every single commuter would find some sort of tools to bring with them
i. Equity Issues: Who loses from commuting rule?
i. People commuting to out of the way places
ii. Poorer people who can’t afford to live close in the city or in suburbs
iii. People in rural areas or other places without public transportation
iv. Progressivity is really an empirical issue:
1. wealthier people will use more expensive methods (drive a lexis instead of take a bus)
2. poorer people travel longer
j. Policy: 
i. If we allowed a basic deduction for all these expenses, we would be erode the tax base ( everybody works
ii. BUT denying commuting costs (directly caused by working): Distorts the work/leisure choice by raising costs of working
k. Temporary Employment (P. 280) Rev. Ruling 99-7
i. may deduct daily transportation expenses in going between residence and temporary work location outside metro area where taxpayer lives and works
ii. If there are one or more regular work locations away from residence, may deduct daily transportation costs incurred in going between residede and temporary work location in same trade or business 
iii. If residence is principal place of business, may deduct costs of going between residence and off-site locations (regular or temporary)
iv. Tax court permitted logger to deduct commuting costs in going to various job sites in a national forest.  
v. Fillerup v. Commissioner: doctor could deduct costs of driving between hospitals but not to first hospital
vi. Croughan v. Commissioner: denial of dedutoin because required to use care at work, but not required to bring car home
l. Reg 1.61-21(k): Late Night commuting:  allows deduction of $1.50 for transportation of hourly employees.
m. §274(m) ( luxury water travel limited to twice highers per diem allowable to employees of exec branch of U.S. government while away from hom.
n. §280F: “luxury” car expenses
a. chart 

o. Conventions ( §274(h)(7): the cost of attending a convention in the US is usually deductible. 
VIII. Travel Expenses: Food and Lodging: 162(a)(2)
a. §162(a)(2): says that you can deduct business expenses including traveling expenses away from home while in pursuit of trade or business. 
b. Requirements which must be met in order for such a traveling expense to be deductible (the Flowers Test)
i. The expenses must be reasonable and necessary
ii. The expenses must be incurred away from home
iii. The expenses must be incurred because of business related interests (created by business necessities)
c. US v. Correll: Deduction for expenses incurred while away from home require overnight stay.  
d. Hantzis v. Commissioner: 2nd year Harvard law student denied deduction for renting an apartment in NY to work at summer job, because expenses didn’t qualify as “not at home.”
i. Existing trade or business test
1. If your job is temporary, and you don’t have any continuing business, it’s a personal choice to keep your second home

2. When you have temporary assignment in the context of existing trade or business, then it’s not reasonable that you would pack up your place and move for the temporary assignment

ii.  “If the reason [for two residences] is perceived to be personal, the taxpayer’s home will generally be held to be his place of employment rather than his residence and the deduction will be denied.”

iii. She wasn’t working for a law firm when she moved; didn’t consider whether being a law student was an existing trade

iv. CONCURRENCE: Rule seems to strip the word “home” of its regular meaning.  Your home is where your residence is located
1. “weave the two clauses together:” while away from home AND in pursuit of trade or business

2. She didn’t maintain residence in Boston for Business reasons

e. IRS test: Home is always where your principal place of business 

f. Policy: seems to penalize two-career couples

g. Gaming: have a vacation home and claim some type of business need for it
h. Rev. Rul. 72-432: if taxpayer has no principal place of business, his “tax home” is his regular place of abode. 
i. Rev. Rul. 63-82: Where taxpayer has more than one business, her “home” for tax purposes is her principal place of business, and thus meals/lodging can only be deducted when taxpayer is at her minor place of business. 
j. Figuring out HOME:

i. If taxpayer has a principal place of business → “tax home” is wherever his principal place of business is. 
ii. If taxpayer has no principal place of business  →  his “tax home” is his abode.  
iii. f taxpayer does NOT have a business connection to his abode, then his “tax home” is his place of employment. 
iv. If taxpayer has more than one business → “tax home” = principal place of business
IX. Business Meals: §274(n) (from 2005 outline)

a. §274 – General Requirements for Business Expenses: Even if the entertainment expense is “directly related” to the business it must still be an “ordinary and necessary” expense for a deduction to be allowed. 

b. §274(n) - 50 Percent Disallowance: Limits the deductions under §274 (for things such as business meals and entertainment) to 50% of cost. 

i. To whom the limit applies – Reg. §1.62-2(h): If a taxpayer is reimbursed for the cost of business meals or entertainment (and makes an adequate accounting) the 50% limitation applies to the one making the reimbursement, not the taxpayer. 

ii. 50% limit and 2% floor of §67 – Reg. §1.62-2(c): if employee is NOT reimbursed by employer, the expense for meals and entertainment are subject to not only the 50% limitation, but also to the 2% floor of §67. 
c. Meals – Reg. §1.262-5: this regulation specifically categorizes meals as a personal expense.

i. Sutter v. Commissioner: The leading case disallowing deductions for regular business meals.  In order to deduct as business expense must be different or in excess of that which would have been made for taxpayer’s personal purposes.
ii. Moss v. Commissioner: Daily meals are inherently personal.  Even if something is deductible under §162 (ordinary & necessary), §262 may be a bar (i.e §262 can trump §162)  if it’s inherently personal. 
1. NOTE: If Moss were an associate, the issue would be whether the lunches constituted compensation under 274(e)(2), or whether they could be excluded under § 132 (fringe benefits) or § 119 (meals & lodging for convenience of employer).
iii. Alternative means for providing employer-subsidized business meals - §132(e)(2)

iv. Meals with clients - §274(a): the cost of the client’s meal is deductible if it is directly related or associated with the active conduct of a trade or business. 
v. Taxpayer’s own portion of the lunch w/client - §274(d): If taxpayer wants to deduct his portion of the lunch as well, must provide adequate documentation. 

d. Luxury Tickets - §274(l)(2): Limits deductions for luxury leased skyboxes in sports stadiums rented for more than one event to the sum of the face value of regular box seat tickets for the number of seats in the sky box. 
e. Club Membership - §274(a)(3): No deduction for club dues even if the primary purpose for using the club is furtherance of the taxpayer’s trade or business. 
i. Regulation §1.132-5(s): An employee whose club dues are reimbursed may continue to exclude the portion of the dues attributable to the business use. 
ii. Regulation §1.162-6: Dues for professional societies, such as the ABA, ARE deductible. 
Expensing vs. Capitalization
I. Different ways of treating assets:

a. 3 basic Haig-Simmons treatments for business assets:

i. Expense: things that don’t produce any income beyond that year; the
ii. Capitalize: assets that last more than one year 

iii. No recovery until realization: Asset you wouldn’t expect to decline in value (i.e., artwork, land, stock); not reducing net worth and don’t produce realized income over time

b. Depreciation happens when you have an asset that’s depreciating over time (may simultaneously produce income); allow some cost recovery but not expensing.  Depreciation is a balance between:
i. delay cost recovery until the end: over-taxing

ii. grant deduction right away: under taxing

c. Most common scenario: we under tax by letting people account for costs up front (or too early).  
d. Different views of expensing:  Assume MTR and interest rates constant
i. Interest free loan:  You have $100 after tax.  MTR is 50%.  If you expense an asset you save $50 in taxes right away, and basis is reduced by $100.  Eventually pay $50 more in taxes at time of sale.     
ii. Reduction of MTR: Present value of paying $50 in 10 years = $28 (assuming a 6% discount rate);  MTR is really 28%; you’re paying $28 in present value in tax.
II. Consumption Tax

a. “fundamental tax reform” usually means moving towards consumption tax

i. Tax on consumption  but NOT savings and investment

ii. Deducting costs of assets is like taxing consumption

iii. You pay tax all the gains at then end.  If you reinvest, you get to deduct everything.

b. Equivalence of Expensing and Yield Exemption
i. Expensing is equivalent of eliminating all taxes on savings and investment and only taxing income you use.
ii. Fruit and tree example: Invest in fruit orchard.  Each ; buy 2 at $200; each tree makes 5 apples
1. Expensing: no tax on tree, pay tax on fruit .  You give the government half the apples, so you’re only left with 5 apples 
a. Regular IRA model ( taxed on later income
2. Yield exemption: taxed on price of trees, so you only have $100 to buy 1 tree, BUT you get to keep all 5 apples

a. Roth IRA model ( taxed on income as it goes in
iii. Numeric conception: Assume pre-tax income of $200.  Each tree costs $100 produces 5 apples (sell for $110, or $10 profit) in one year, and it will die in year 2. 
1. Income tax ( paid 50% tax on $200; left with $100 to buy 1 tree.  Pay 50% tax on gain of $10; left with $105; taxing both labor and capital income
2. Expensing ( Buy 2 trees, pay 50% tax on $220 and left with $110

3. Yield Exemption (  paid 50% tax on $200; left with $100 to buy one tree.  No tax on $10 profits; left with $110

iv. Critical assumption:  MTR stays the same over time
v. NOTE: Nominal amount of tax here is different; yield exemption pays $100 in year 1, but expensing pays $110 in year 2.  given earning power of money, these are the same
c. Expensing/IRAs

i. Contributions: deductible
ii. Accumulation: Tax deferred

iii. Withdrawals: Entire amount included in income

iv. Value upon withdrawal: Deposit *(1+r)^y *(1-MTR)

v. Equivalent to: consumption tax

d. Yield exemptions/Roth IRA

i. Contribuions: no deduction (after tax)

ii. Accumulation: Tax exempt

iii. Withdrawals: Entire amount excluded from income

iv. Value upon withdrawal: Deposit * (1-MTR) * (1+r)^y
v. Equivalent to: wage tax, tax on labor but not capital

e. Key Assumptions: 
i. MTR constant. 

ii. Interest rate constant. 

iii. Deductions can be used immediately (i.e., other income to offset).
f. Budget Balancing: converting all IRAs to Roth IRAs and limiting contributions

i. people pay taxes now, high tax revenue for next 10 years.
ii. BUT Revenue on Roth IRA is all up front; lose a ton of future revenue
g. Take-away: 

i. Income tax taxes the income you earn twice:
1. when you received it form labor earnings
2. when you receive earnings from what you saved
ii. Consumption tax doesn’t tax capital income; it only taxes labor income; equivalent to wage tax, or tax on labor (but not on capital)

iii. Wage tax is economically equivalent to a consumption tax, because we assume whatever isn’t saved/deducted is used for consumption

h. We currently have a hybrid income/consumption tax

i. There are a lot of expensing elements in our tax system

ii. Deductions for things that should be capitalized

iii. Accelerated depreciation much faster than economic depreciation

iv. Other examples 

1. defined benefit plans

2. defined contribution plans

v. current cost is $125 billion/year (about 14% of 2005 revenues)

i. how people respond to these incentive
i. People may invest in more risky assets under income tax; taxing ROI has the government share a portion of risk
ii. the government as co-investor plays a greater role in more sophisticated taxpayers ( companies and high net worth individuals
iii. If People are rational and respond, then there’s not so much difference between income and consumption tax

j. Inheritances ( equivalence assumes there are no inheritances.  Consumption-based tax would never tax inheritance directly
i. Labor income would be taxed when earned and never again
ii. Expensing style Cash Flow Consumption tax 

1. you get a deduction for anything you save or invest ( all savings are like a 401(k)

2. Here you would tax inheritance once kids don’t decide to save the money

iii. Our system: somewhere between only taxing once and taxing twice.  Donor doesn’t get a deduction for what they pass down.  Children are taxed on earnings on inheritance (but not the principal). 

iv. NOTE:  In a pure consumption model, bequests are NOT savings.  Parent should be taxed on bequests under cash flow consumptions, but Roth IRA allows them to avoid this

k. 5 take away points:
i. Income taxes income twice

ii. Expensing is equivalent to yiled exemption

iii. What’s at stake with expensing is difference between income and consumption tax

iv. In reality we have a hybrid income-consumption tax

v. A lot of economic debate about how different these are in practice

III. Treatment of Capital Expenditures: §263
a. Policy: Reasons not to reconcile tax accounting and financial accounting
i. would disadvantage public companies who want to show a profit but claim tax loss

ii. easier for private taxpayers to game the system, including private companies

iii. financial accounting aims to be conservative, which might not be what we want for tax purposes (end up with less)
b. §263- Capital Expenditures: No deduction is permitted for capital expenditures (“any amount paid out for new buildings or for permanent improvements or betterments made to increase the value of any property or estate”).  Statute lists various exceptions including: 
i. mines, R&D and experimental procedures, soil and water conservation, fertilizer expenditures by farmers, removal of architectural and transportation barriers to handicapped and elderly
c. NOTE:  Land itself is NOT depreciable
d. 263(A) contains more specific rules: 
e. 1.263(a)-1(b) ( amounts to add value or substantially prolong the useful life of property owned, or adapt property to a new use
i. Amounts paid for incidental repairs and maintenance are NOT capital expenditures

f. 1.263(a)-2(a) One Year Rule: The cost of acquisition, construction, or erection of buildings, machinery and equipment, furniture and fixtures, and similar property having a useful life substantially beyond the taxable year.
Rule offers other examples:
i. (b) amounts expended to secure a copyright and plates

ii. (c) Cost of defending or perfecting title

iii. (d) architects services

iv. (e) commissions paid in purchasing securities are offset against the purchase price (except for dealers who can deduct such commissions)
v. (f) amounts assessed an paid under agreement between bondholders or shareholders to be used for corporate reorganization, voluntary contributions to capital or corporation
g. Welch v. Helvering:  T paid off creditors in order to fix reputation in business and tried to claim deduction for paying debts. Court said expense wasn’t ordinary & necessary.  
i. Necessary –appropriate and helpful
ii. Ordinary – Common & accepted means. Lawsuit is deductible (capital asset but habitual); reputation & goodwill aren’t deductible (capital asset and not ordinary). One interpretation of “ordinary” is “non-capital expenditure” Capital means you are going to get future benefits. 
iii. Amount paid by T had to be capitalized rather than expensed under §162 b/c repayment of discharged debt produced future benefit.
h. When an amount must be capitalized it is added to the taxpayer’s basis in the asset with respect to which the expenditure is incurred. This amount will then either be recovered when the asset is sold or over some period of time through Depreciation/amortization.   
i. 1-162-7(a)  Compensation is generally deductible,  exception if fruits of employee labor won’t come until later, wages might be capitalized as part of self-constructed property
i. POSNER ( if we took the concepts seriously, a portion of almost any employee salary should be capitalized.  Lawyers are building up their skills (human capital), good will for firm, work product that can be reused

j. Woodward ( Need to capitalize fees incurred in valuation of stock for buyout of minority shareholders.  Court disallowed deduction under §212.  Acquisition of an asset must be capitalized and fees are in the furtherance of that acquisition

i. NOTE: legal fees seem  like ordinary and necessary expenses

ii. Reg 1.212(k) ( expenses incurred in defending or protecting title are not ordinary and necessary, but portions of legal fees used to collect rents on lands could be deductible.

k. Reg 1.263(a)-2(e): Buying Securities.  No deduction for broker’s commission, capitalized instead..  If I sell for $110 and pay another $5 commission, proceeds are treated as $105
IV. Recurring v. Nonrecurring Expenditures 263, 263A
a. Nonrecurring expenses more likely to have to be capitalized. 
b. Acquisitions: 263A 
i. Costs of purchasing property - : certain direct/indirect costs are nondeductible, such as the direct cost of purchasing property. EX: a business’ expense of purchasing computers would need to be capitalized. 
ii. Purchasing buildings/increasing value of buildings - §263(a)(1): General Rule: no deduction will be allowed for any payment for new building or to increase the value of a property or estate.
iii. Costs incurred in purchasing an asset – Reg. §1.263(a)-2(a): The costs incurred in the acquisition of an asset must be capitalized.  (Woodward v. Commissioner)
c. Construction
i. Costs of Constructing Property - §263(a)(1): Cost of constructing capital assets must be capitalized. This section disallows a deduction for any amount paid out for new buildings or for permanent improvements or betterments made to increase the value of any property or estate. Policy: buying what someone else built requires capitalizing the costs which are included in the price; don’t want to create incentives to self-construct the racetrack (equity issues).
ii. Indirect Costs relating to construction of property - §263A: Capitalization required for virtually all indirect costs, in addition to the direct costs, allocable to the construction or production of real property or tangible personal property. (Commissioner v. Idaho Power). 
1. Commissioner v. Idaho Power Co. Court upheld IRS position that in so far as equipment is used in constructing new facilites, depreciation deductions in equipment should be disallowed and those amounts should be added to adjusted basis in new facilities. 
2. Rule: Need to capitalize the direct costs and an allocable share of the indirect costs of the self-constructed assets, includes legal fees to house counsel
3. Example: $10,000 in depreciation costs of $50k paver used to construct facility goes basis in facility.  Other $40k of paver depreciates normally.
iii. reg 263A-1(d)(1) ( “self-constructed assets” are assets produced by taxpayer for use in his trade or business
iv. 263A-1(a)(2)(i)(A) ( would cover the nails in the building
v. Cost of Demolition - §280B: Disallows deduction of any expenses for the demolition of structures and requires that such expenses be added to the basis of the land on which the demolished structures were located. 
vi. Reg. §1.263(a)-4: rules about capitalizing the direct/indirect costs of property which taxpayer constructs himself. 
d. Fees
i. Broker’s Fees – Reg. §1.263(a)-2(e): generally you do not get a deduction for a fee paid to a broker in purchasing securities. 
ii. Legal Fees for self-defense/perfection of title – Reg. §1.263(a)-2(c): need to capitalize legal fees which are expended for the cost of defending or perfecting title to property. 
e. Expanding ventures: 
i. NCNB Bank Corp (4th Cir)( costs for setting up a loan department: people to check credit, advertising, etc. could be deducted immediately

ii. Colorado Springs Nat’l Bank v. US (10th Cir) ( deduction for costs of initiating bank cards – not entering into new business; old business of lending carried on in a new way.

iii. But See Central TX S&L Co v. US ( 5th Circ held had to capitalize expenses of opening new branches.

iv. Ellis Baning Corp. v. Commissioner ( costs of acquiring new subsidiary must be capitalized

v. ANALYSIS: Core business function vs. new business?

V. Advertising and Intangibles (narrowing Indopco): 
a. Indopco ( everything that provides benefit beyond current year should be capitalized; including target’s legal fees and acquisition expenses in friendly takeover by Unilever of National Starch.

i. §§ 263, 263A may trump §162 ( regardless of whether it is a business expense, in some cases it cannot be deducted because it needs to be capitalized. 
ii. regulations cut back on this ruling 
b. Reg. 1.162-20: advertising and promotional expenses are deductible

c. Rev Ruling 92-80: “only in unusual circumstances where advertising is directed towards obtaining future benefits significantly beyond those traditionally associated with ordinary product advertisement of institutional or good will advertising,” must costs be capitalized.  Cleared up INDOPCO fears
d. Regulation §1.263(a)-4(d): taxpayers need to capitalize the cost of acquiring as well as creating certain enumerated intangibles. 

e. Regulation §1.263(a)-4(c)(1)(xiv): the cost of acquiring computer software is an intangible cost that must be capitalized
f. A version of the “One Year Rule” – Reg.§1.263(a)-4(f): permits deduction of payments whose benefit lasts 12 months after the taxpayer first realizes the benefit or the end of the year in which the payment was made, whichever period is shorter. This includes payments for rents, interests and licenses. 

g. Rev. ruling 94-77 ( deducting employee severance payments

h. Rev. ruling 96-62 ( costs oft training employees generally deductible

i. Rev. Ruling 2000-7 ( costs of removing and asset to replace it doesn’t have to be capitalized.  
X. Repairs v. Improvements, Reg 1.162-4
a. Factors to look at for repair vs. improvement
i. are you prolonging the expected life?

ii. substantially increasing value? 

iii. adapt it to a new or different use?

b. Repairs v. Improvements – Reg. §1.162-4: generally repairs are deductible, while permanent improvements must be capitalized. Arresting deterioration or appreciably prolonging the life is capitalized, but incidental repairs but keep it in ordinarily efficient operating condition can be deducted.
c. Test: whether the value of the property is more after the expense than it was before. 
d. Revenue Ruling 2001-4: courts generally distinguish between deductible repairs and nondeductible capital improvements by looking at whether it was intended to make the property useful beyond its “anticipated useful life.” Key seems to be restoring (repair) v. improving (improvement)
e. Repairing defects in acquired assets:
i. Plain View Union Water: base price is value and useful life for planned uses before the situation arose that prompted the expenditure.  Under this test, it seems something would be a repair assuming buyer didn’t know about a latent problem beforehand.
ii. United Dairy Farmers: the baseline is the value for the planned uses at the time of purchase.  Purchased land they knew was contaminated and nsuccessfully tried to deduct the price of decontamination..  The court held that since they knew of the defect, they were adapting the land to a new and different use.
Depreciation
I. In general
a. Addressing the problem of valuation

i. Things decline in value

ii. Closer to Haig Simmons income; allows taxpayer to realize part of decline in value before a sale
iii. Creature of realization requirement

b.  “arguable” that we should have depreciation

i. Rules are not always symmetrical

ii. No estimate of how much the building is rising in value

iii. Rule tends to help tax payers

c. Policy rationale ( reflect costs of earning income

i. Only use depreciation when item declines in value through use

ii. No depreciation for things that fluctuate in value (diamonds, etc.)

iii. Only depreciation for items producing taxable income
d. Straight line depreciation ( Deduct decline in value of asset evenly over time.  Doesn’t fit economic realities; assets don’t depreciate evenly
e. Law uses accelerated depreciated: more front-loaded than economic depreciation.

II. Mechanics: §§ 167, 168
a. Step 1: Is it depreciable: §167(a)(1), (2)  ( We can ONLY take depreciation for business expenses or income producing assets; no depreciation for personal expenses

i. §168 ( tangible property depreciation

ii. §197 ( intangible property depreciation (amortization
b. Step 2: find depreciable base: 
i. §167(c)(1): Determined by adjusted basis §1011

ii. 168(b)(4) Ignore salvage value
iii. NOTE: depreciable base is inflation adjusted, but prof is not including that here
c. Step 3: may elect to expense up to $100k of a tangible depreciable asset, §179
i. limit was $25k before 2002 and will reset after 2010

ii. (b)(2) Limit reduced dollar for dollar  by amount by which the cost of §179 property exceeds $400k 
1. Policy: 179 meant to help small businesses.

iii. (b)(3)(A) Deduction limited to aggregated taxable income derived from trade or business.

iv. (b)(3)(B) carryover of disallowed deductions
v. (b)(5) ( inflation adjusted

d. Step 3: Depreciation Period: 168(e) to determine class of property

i. 3, 5, 7, 10, 15, 20 year depreciation property
ii. Find out how long the class of property is suppoed to last
iii. Consult 168(e)(3) for certain types of property.  
iv. NOTE: depreciation doesn’t apply at all to viode tapes and sound recordings.
e. Step 4: apply appropriate convention: §168(d) 
i. (1) half-year convention for most property (all property placed In service during any taxable year is rearded as placed in service on the mid-point of that year (i.e., for 5 years property with 200% declining balance, only deduct 20% (not 40%) of basis for year 1)

ii. (2) mid-month convention for real property; all property in any month 

iii. (3) midquarter convention: special circumstances (if aggregate bases of property placed in service during last 3 months of year exceeds 40% of aggregate bases of property to which, then all property is mid-quarter convention)
f. Step 5: choose depreciation method

i. 168(a)(1) ( 200% declining, switching to straight line in first year that straight line will be larger
1. take twice the applicable percentage of value for that year

2. for 5 year property, deduct 40% of basis per year (as opposed to 20%.  For adjusted basis fo $50k

a. Year 1 ( 40% of $50k is $20,000 

b. Yer 2 ( 40% of $30,000 is $12,000
ii. 168(a)(2) ( 150% declining  for 15 or 20 year property, farming business property, taxpayer elected property

1. deduct 150% of applicable portion of basis per year

2. for 5 year property, deduct 30% 
iii. 168(a)(3) ( straight line: nonresidential real property, residential rental property, railroad grading/tunnels, taxpayer elected property

iv. §168(b)(1)(B) Switch ( from double declining to straight line for the 1st taxable year for which using the straight line method with respect to the adjusted basis as of the beginning of such year will yield a larger allowance
v. NOTE:  taking election under 168(a)(5) to used different method will apply that method to all  property in a certain class.  
vi. Might take the election to use slower method if you don’t have enough income to offset (lets you get more depreciation later when you will actually have taxable income to offset):

vii. §168(c) commercial real estate ( §168(c).  Recovery is 39 years, Do straight line
viii. §197 intangibles (goodwill). Amortized straight line over 15 years.  Self-created goodwill cannot be amortized
III. Criticisms of accelerated depreciation

a. Distributional issues: Beneficiaries are businesses and their owners; Subsidies for people with resources to invest in depreciable business assets

b. Bad for laborers:

i. Equivalence of yield exemption and expensing, means we are taxing labor income much more heavily than capital income
ii. Long term ( induces companies to invest in capital over labor: more capital intensive production processes
c. Efficiency issues ( people structure transactions around depreciation: Timing, Types of products 
i. Positive Externalities ( if investment has positive externalities, then it might be efficient.  
ii. Negative externality ( tax shelters; market for buying depreciation deductions, etc.; creates transactions (and transaction costs) to shift depreciation to parties that can use it most
d. Refundable tax credit might be cleaner.  Current system only encourages investment in people who have income to offset

IV. Application
a. Conceptually: Letting taxpayers recover costs over time if it’s producing taxable income; deducting costs of earning income leads to better measure of real income
b. Tax code says something slightly different than conceptual task: deduct reasonable value for wear and tear.  No requirement that asset produce any income or actually depreciate.
c. Simons: when is the asset depreciating? ( Professional musicians paid $30,000 and $21,500 for two antique bows.  IRS said no depreciation; value was not based on useful life.  Court allowed them to depreciate the whole cost over 5 years

i. DISSENT( separate the collectible value and the wear and tear portion; you could have that with 
d. 2nd Cir ( bows in a museum or paintings on the wall of office building don’t have wear and tear (bottom of p. 337)
e. Browning v. Commissioner ( can’t deduct value of Stradivarius violin 

f. Liddle v. Commissioner ( permitted depreciation deductions on a valuable bass violin because it became no longer useful (even though it increased in value)

V. Conversion and Recapture: 1231, 1245, 1250
a. §1231 property ( property that is depreciable gets capital gains treatment when sold at a gain; normal income treatment when sold at a loss!

b. Recapture provisions: 

i. §1245 ( gain is considered ordinary to extent of depreciation taken (including 179 depreciation)

1. basis recovery on sale will be ordinary income

2. ONLY profit will be cap gains

ii. §1250 ( no recapture for real property
1. Gain to extent of depreciation deduction is 25%
2. More than cap gains, but less than ordinary income

INTEREST

I. Tax Arbitrage
a. When can you deduct interest repaid on borrowed funds??
b. Business interest
i.  A and B are each in the widget business, and each have $100k in cash

1. A will buy  a machine and get a $10 return

2. B will pub money in bank, borrow money to buy the machine at 10% and get a $10 return

ii. Horizontal equity ( each has $10 in income at the end of the year; Interest is just a cost of producing the widget receipts

c. Personal interest: personal consumption
i. BUT we generally tax income from savings, why not allow negative deductions from interest
ii. Haig Simmons argument for universal interest deduction( owing $10k interest is -10k in net worth change; allow the deduction

d. Tax Arbitrage ( using interest deductible borrowing to finance buying assets that have tax exempt (or tax preferred) income (i.e., lower tax income) 
i. Roth IRA: borrowing at lower rate to put money in tax exempt saving vehicle.  Loan interest is deductible, and no tax on interest in Roth IRA.  Could borrow infinitely and offset all ordinary labor income.
ii. Wash transaction ( borrow at 10% to get 10% return.  If income was tax exempt and interest was deductible, then after tax income will be $10, but after tax cost of interest will be $5 (assuming 50% tax bracket and deduction of $10 interest expense)

iii. Borrowing at higher interest rate to achieve nominally lower rate may be profitable if tax deduction is larger than the spread.

II. Combating Tax Arbitrage

a. Tax arbitrage is an equity issue ( people with more income and assets would be able to take greater advantage of the system.
b. Municipal bond Interest: 265(a)(2)
i. § 103 ( interest from state and local bonds is tax exempt
ii. § 265(a)(2) (  denies interest deduction for state or local municipal bonds.  No deduction for “Interest on indebtedness incurred or continued to purchase or carry obligations the interest on which is wholly exempt from the taxes imposed by this subtitle.”
iii. If interest were deductible, borrowing at 10% to finance 8% bond would produce a net return of 3% (assuming 50% MTR)
c. ASIDE: municipal bond interest deduction leads to subsidies for State and local governments, but also subsidies for investors.  If benefit was fully capitalized into price, yield on state and municipal bonds would be around 65% of corporate bonds.  In reality, yield is around 80%, so the investors make a profit.  People with no income to offset can’t take advantage of this provision
i. NOTE: market equilibrium scenario: Eliminate 265(a)(2), then people would keep borrowing until the price came down so that it wasn’t worth it anymore
d. 163(d): stock purchase basket

i. Dividends taxed at 15% cap gains rate
ii. 163(d) ( interest to finance purchase is only deductible to extent of investment income, and must include dividends in ordinary income (forgo preferred capital gains rate)

1. Carryover for denied deductions

2. Basket approach
iii. Forgo the preferential rate ( prevents tax rate arbitrage (converting normal income into capital gains income)

iv. Investment income includes dividends, interest income (from bonds purchased), and capital gains

v. Basket instead of asset by asset because of
1. administrative costs
2. people think of investment in terms of portfolio (not individual assets), ability to group it all together, rather than further penalize people by denying deductions on failed investments 
3. still some over-taxation; lower deductions for losing portfolio
e. §469 Passive Loss Rules ( Losses from passive activities are not deductible (except to the extent there is income from passive activities):

i. Rental activities

ii. Conduct of trade or business in which taxpayer doesn’t material participate.  See Estate of Franklin
iii. Doesn’t include portfolio income: interest and dividends produced by stocks or bonds not derived from ordinary trade or business

III. Tracing Rules and Personal consumption
a. don’t allow people to deduct interest to finance personal consumption
b. Horizontal equity ( Not all people in same economic situation won’t get to deduct interest; trap for the unsophisticated.
c. Tax arbitrage issue ( Money is fungible; clever taxpayers will spend borrowed money for business expenses to deduct interest and use personal assets for tax exempt investments

d. 1.1638T ( complex tracing rules look to the timing of when you spend the money.  Borrow, spend on business expenses first, wait a while to buy personal items.  
IV. §163(h) ( Qualified residence Interest 
a. 163(h)(3)(B) Acquisition indebtedness (can deduct interest on up to $1 million of debt to acquire, construct or substantially improve qualified residence
b. 163(h)(3)(C) Home equity indebtedness ( Can deduct interest on up to $100k debt secured by equity in a qualified residence
c. “qualified residence” includes primary residence plus one other residence.
d. Bright line rules allow you to manipulate the system: can deduct interest on any debt as long as it’s secured against the house and cash in on arbitrage by using $ to buy tax exempt bonds.
e. Solutions: mark-to-market, consumption tax (denies all interest deductions, otherwise infinite arbitrage)
f. This is NOT really an income measurement device; it’s a home ownership subsidy.  Disallowing the deduction would make  it harder to build equity
i. Vertical equity: without deduction buying a home will cost more for people who have to finance with debt.
ii. Horizontal equity issue: with deduction homeowners pay less tax than others with same income who rent or pay cash.  
g. Tax Reform Issues 

i. Why have second home ownership deduction?
ii. Vertical Equity: Benefits of home mortgage interest deduction disproportionately to highest tax bracket

1. More expensive homes

2. More likely to have capital to become home owners

3. Highest MTR, so the deduction is worth more
iii. Home equity indebtedness provision: why give additional incentives to hold onto home and cash out value (people may ultimately lose homes if they over-leverage and market crashes)
iv. Structuring the subside: interest deduction vs. credit 

1. Current law only incentives borrowing ( size of deduction depends on degree of leverage.

2. Non-refundable credit: 15% on interest of indebtedness up to median home value in that area.  80% of homeowners would do better than under current law.
3. NOTE: DC has a pretty sizeable credit only for first house

v. Responsiveness: Rate of ownership has stayed at 65% over the years even though benefits have changed dramatically

V. Judicial Reform/Economic Substance
a. Knetsch: Bought $4 million annuity earning 2.5% financed with non-recourse basis (secured by annuity bond) at 3.5% interest. Makes $140k prepayment of interest.  Borrows $100k and takes $112k deduction for interest on $140k; nets $72k.  Deferred tax on annuity payments until future payouts.
i. Tax Arbitrage ( getting double benefit.  income is tax deferred so long that he can take $ and earn more interest
ii. IRS disallows deductions
iii. HOLDING: No real indebtedness.  He didn’t really purchase an annuity; he really borrows all of it.  The only real investment is $1000.  The annuity would pay out at $43/month when he turns 90
iv. Compare to Estate of Franklin
1. nonrecourse debt provided by the seller
2. deductions make transaction profitable
3. No real investment in either case.  Both cases were more like option contracts.  
v. Risk test: there needs to be risk in order for the transaction to count.
b. §264(a)(2) and annuiites ( No deduction for: Any amount paid or accrued on indebtedness incurred or continued to purchase or carry a single premium life insurance, endowment, or annuity contract (statute passed subsequent to tax year of case, but before opinion).
c. NOTE:  Unclear about when and how tax shelter rules apply.  You can usually get around the doctrines as long as you don’t appear really greedy.
Losses
I. In General
a. When you sell an asset ( amount realized less than adjusted basis
b. Transaction ( deductions are greater than the amount gained (interest deduction w/o offsetting income inclusions)
c. §165(a) ( There shall be allowed as a deduction any loss sustained during the taxable year and not compensated for by insurance or otherwise.
d. §165(c) In the case of an individual, the deduction under subsection (a) shall be limited to –
i.  losses incurred in a trade or business; 
ii. losses incurred in any transaction entered into for profit, though not connected with a trade or business; and 
iii. casualty losses: fire, storm, shipwreck, or other casualty, or from theft. 
e. Asymmetry ( taxed on personal gains, but you can’t claim personal loss
i. Personal consumption is separate ( not a loss
ii. Reason you have the loss is that you’ve been consuming it
iii. Is this fair if the loss was caused by decline in market?
iv. Administerability concerns
f. Realization principle ( must sell securities to claim a loss
i. Reg. 1.165(1)(b) ( losses must arise in a closed transaction (no mere “paper losses”)
II. Personal Losses 
a. §183(a) Hobby Loss Provision: Basket approach: limits deductions to gains from that activity

i. NOTE: Permissive provision: normally can’t deduct under §262, but we make an exception ehre.
ii. Does not apply to corporation: by definition profit-seeking; corporations don’t have hobbies/personal consumptions
iii. Separate basket for each hobby.
b. Policy for basket approach:  Potential for abuse ( we’d be subsidizing people’s hobbie.  People might claim that all hobbies have potential to become hobby.
i. Limited deduction ( striking a balance and addressing valuation issues
ii. if you can prove a portion is engaged in for profit, we’ll let you deduction that extent
c. Reg. 1.183-2(b) ( factors to consider in determining if taxpayer participated in activity with profit motive
d. Plunkett (  engineer/home builder competes in mud racing and truck pulling competition for cash prizes..  Court split the holdings: truck pulling activities were for profit, but mud racing activities weren’t deductible.  Court used 1.183-2.
i. Mud racing had low profit potential, recreational characteristics, couldn’t have had profit potential given that he speng more than ttal prizes.  
ii. He didn’t have experience in truck pulling
iii. For truck pulling, he proceeded in “workmanlike manner,” made significant investments, he switched to it because it was more profitable
II. Casualty Losses: 165
a. 165(a) deduct to extent not compensated for by insurance or otherwise
b. 165(b): Business property 
i. can deduct the adjusted basis in property for casualty loss.
ii. Limiting to adjusted basis ( depreciation has already been deducted
iii. NOT FMV: might result in deduction for more than funds spent
c. 165(h): Personal casualty
i. May deduct to extent that it exceeds $100 per casualty and net casualty loss exceeds 10% of adjusted gross income
ii. 1.167-7(b) look to lesser of FMV or adjusted basis ( amount that it’s lower than basis may reflect personal consumption use
iii. Only type of personal loss not limited by a basket 
d. Public Policy exception ( if it was intentional or result of gross negligence
e. Personal Casualty deductions as insurance
i. Value of insurance = value of deduction (FMV * MTR)
ii. You get FMV, because you could never recover investment through depreciation recovery of basis
f. Business casualty ( if you hold it in business, you recover basis with depreciation; insurancee benefit is that you recover basis sooner
g. Correcting market failures: May be risks for which you can’t get insurance privately because of adverse selection
i. government doesn’t want to crowd out the private insurance market, so government benefit can’t be too big
h. Criticism ( value of insurance depends on MTR and income.  If you have low or no income, you can’t recover through casualty loss deduction
i. Moral hazard issues:
i. Public policy exception
ii. copay ( tax is NOT insuring for total amount
iii. deductible ( 10% of AGI plus $100
j. NOTE: Private insurance will reduce deduction dollar for dollar if less than FMV (personal context) or adjusted basis (business context)
III. Sham transactions
a. §267: sales to related parties
i. 267(b)(1) ( members of family
ii. 267(c)(4) ( fam members are parents, siblings, spouse, ancestors, lineal descendants
iii. 267(d) ( family member only has to realize gain to the extent that it exceeds the disallowed loss, BUT if asset declines further, family member can’t exceed original loss
b. §1091 wash sales ( disallow deduction when you acquire or enter contract to acquire substantially similar stock w/in 30 days of sale or disposition
i. People attempt to use wash sales to realize losses.
ii. Result of wash sale: original owner keep original basis, and add any costs of wash sale to basis.  Straw man taxed on gains
iii. Example: Sale of stock that fell to $500k for $330k and buyback for $335k ( basis is now $500k.
iv. He keeps original $500k basis; adds cost of resale to Noah
1. Basis is now $505k
2. buyer taxed on $5k gain from the transaction
v. NOTE: May be judicial ways that this loss will be denied as well
c. §267(c)(2)( constructive ownership of stock by spouse or family member
i. Example A sells to niece K for $330k.  60 days later, she sells back for $340k
ii. Wash sale rules no longer applies ( more than 30 days after transaction
iii. Concerns that this is a sham 
d. Fender ( Sold depreciated bonds to bank on Dec. 26.  Bank sold the bonds back for almost same price plus accrued interest.  Basis was $450k; sold for $225k to bank.  Dad owned 41% of bank stock before the sale, and 50.2% at time of repurchase
i. Holding: taxpayer didn’t experience a bona fide loss, so no benefit
ii. 1.165-1(b) ( only bona fide loss is allowable
iii. He didn’t have a risk of not being able to repurchase the stocks if he wanted to, because he controlled the bank
iv. NOTE: at time of sale, control interest  meet the 50% requirement of §267
v. Compare to mortgage portfolio swap Cottage Savings; here, the assets were identical, no regulatory agency facilitating 
e. Policy: Tension between rule complexity and effectiveness:
i. Bright line lets people rely on the rules
ii. BUT Fender is a good example of what could happen if we stuck w/ bright line rule
1. Broad anti-abuse rules: cut down on abuses, but hard to plan affairs, lots of $ spent on tax counsel because of unclear law
2. Tension between rule complexity
IV. Interest and tax shelters

a. Tax shelter ( transactions that produce tax losses where there is no economic loss, structured in a way Congress didn’t intend
b. Frank Lyon ( Company purchased building under construction by Worthen and leased it back to Worthen.  First 25 years: Worthen paid rent for building that perfectly offset Lyon’s principal and interest obligations; Lyon pays Worthen token ground rend ($50/year).  For next 40 years Worthen would pay $300k rent (net $100-250k over ground lease paid by Lyon).  Worthen had option to buy building at $500k (Lyon’s initial investment) +6% interest and assumption of mortgage.  
i. Lyon advantage: makes money through depreciation deduction on building and perhaps converstion benefits when they sell the building
ii. Worthen’s advantage: Getting building they wanted but not allowed to own for regulatory purposes.  Rent is equivalent to what it would cost if they built it on their own Actual price is 6% interest on $500k loan
iii. IRS argument: yon is not the owner of building.  Worthen is owner, and they got 6% loan from Lyon
iv. Supreme Court Holds for Lyon: Risk involved, NY Life involvement means NOT purely a sham transaction
v. Possible Facotrs
1. Government wasn’t losing any money ( any deduction here is offset by someone else’s income.  
a. Somebody would get depreciation deductions anyway
b. maybe some arbitrage from Worthen’s lower MTR
2. 3rd party to transaction (more likely economic substance)
a. contrast to over valuation in Estate of Franklin
b. might still be scheme to shift tax benefits
3. Only Lyon was liable on the mortgage ( bore downside risk 
a. seems more like guarantor, who wouldn’t get tax benefits
b. No real upside risk because of option
4. No guarantee that Lyon would get 6% return on $500k
a. Was IRS arguing this was a real loan anyway(?)
5. Lyon disclosed liability on their balance sheet
a. so what?
c. Lyon points to difficulties in tax system ( creates formal categories.  But transactions are often more complex than this.  Taxpayers could structure transactions that fit into formal categories but shift deduction economically to party bearing less of risk and upside
d. Connecting the cases: In each one, there is pre-arranged deal in which economic substance was different from before
i. Fender was a bit different; real economic loss, but they were gaming while they still owned the loss
ii. Estate of Franklin ( Look out for over-valuation; Inventing deductions in addition to shifting
iii. Knetch ( use of deductible debt to finance purchase of tax preferred asset: there was a tax shelter because of classic example of tax arbitrage
iv. Frank Lyon ( more classic example: shifting deductions to party who could use them the most.  Property wasn’t overvalued, soFrank Lyon actually won
1. maybe because there was a non-tax purpose to structure (regulatory reason)
2. less concern over shifting than over fabrication
3. deal actually produced a building
e. Tough time with hybrid ownership structures: Difference between loan and lease.  Fianacial analysis may reflect risk, but it doesn’t answer loan vs. lease question: nobody has 100% of ownership
f. Issue is a lot like realization: law is basing lots of tax consequences on artificial determination (non-economic)
g. Reform alternative: No depreciation to the extent that it’s debt financed; only depreciate to extent of your finance.  Owner can only depreciate basis.

V. At risk rules
a. Aware of rules - be able to flag whether transactions falls w/in purview
b. At Risk Rules disallow deductions to the extent that they exceed the taxpayers investment in property
i. Unlimited carry forward deductions
ii. generally wouldn’t count non-recourse debt: Think about what cash and property they have put down
c. Distinct from passive loss rules
i. PL rules apply even if financed entirely with cash or recourse debt

ii. Passive loss rules put income and deductions from all passive activities in one big basket; at risk rules do not
iii. PL rules don’t apply to portfolio income

iv. PL rule don’t apply ot corporations.

d. Franklin is limited by at risk rules

i. Low amount of equity in hotel

ii. Passive loss ( it’s passive

e. Knetsch ( passive loss rules don’t apply to portfolio income

i. At risk rules might apply

ii. §§265 and 163 ( specific rules on income that is tax esempt

f. Frank Lyon

i. Passive loss might disallow deduction if it was individual

ii. Passive loss rules don’t apply to corporation

iii. At risk rules ( may not apply if it was recourse debt

g. Very few Franklin shelters, but a lot of Frank Lyon corporate tax shelters

h. Have corporations disclose on tax returns transactions with hallmarks of shelters ( Reportable transactions

i. Generating over $10,000 of losses

ii. Confidential transactions (could be marketed by tax advisor)

iii. Transactions where there is a large book tax from account treatement

iv. Increased audit risk makes them more likely to engage in legit transactions

i. Hobby Losses in 183

j. Related party transactions 267
k. Wash sale rules 1091

l. Limits on Capital losses

m. Drastic Reform prohibiting non-economic losses unlikely: debate will continue

Personal Deductions 

I. Standard Deduction: §63
a. §63(c) Flat amount which varies with marital status and may be taken regardless of expenditures.
b. Replaces itemized deductions: effectively provides a floor for itemized deductions. 
i. Amounts of the standard deduction
ii. Joint return → 6K
iii. Head of household → $4,400
iv. Unmarried individuals → 3K
v. Married individuals filing separately → 3K
c. §63(f): aged and blind 

i. Married taxpayers each deduct additional $600 for each such status 

ii. Unmarried taxpayers deduct an additional $750 each such status

iii. Adjusted for inflation.

d. 63(c)(5) Dependents ( The standard deduction of an individual who can be claimed as a dependent by another taxpayer is limited to the greater of: (A) $500 or (B) sum of $250 and the individual’s earned income.  

e. Personal Exemption §151: persons who take standard deduction also eligible for personal exemption.
i. 151(d)(1) in general exemption of $2k for an individual
ii. 151(d)(2) zero exemption for dependant 
iii. 151(d)(3) phase out of 2% per $2500 AGI above threshold
f. Dependants §152 –qualifying child or a qualifying relative. 

g. Child Care Credit - §24: Taxpayer entitled to a $1000 credit for each qualifying child who is under age 17.  The credit is phased out for single taxpayers whose AGI exceeds 75K or married taxpayers whose AGI exceeds 110K. The credit is refundable to the extent of 15% of the taxpayer’s earned income in excess of 10K (indexed for inflation). See page 418
h. Policy: Why do we have the standard deduction? 
i. substitute for itemized deductions for those taxpayers for whom itemized deductions would be of relatively small amounts. 

ii. adjustment of the tax rate schedule. 
II. EITC 
a. Effect on married taxpayer with two kids phasing in

i. Decrease MTR by 40% points until $11,000 in income

ii. For every $ you earn, you get $.40 tax credit

iii. Maximum credit is $4,3000 up to income of $11,000

iv. Stays at this level until starts phasing out around $16,000 in income

b. $11,000 -$16,000 ( zero effect on MTR

c. Effect on married taxpayer with two kids when phasing out

i. For every $ you earn, EITC is decreased by 21 cents

ii. 21% MTR for this range 

d. Excludes capital income

e. Looks at gross income before standard deductions

f. W/o EITC You’re in 0% tax brackets until about $32,000 

g. With EITC, -40% MTR until $11k, 0% MTR unitl $16,000, implicit 21% MTR until 23,000.  At $22,800, you go up to 30% (21% phase-out plus 10% explicit MTR).  After phase out (~$32,000), MTR drops to 15%

h. Net Result ( don’t owe any tax until about $32,000.  If you have child tax credit, figure goes up to $40,000

i. Can have 21% implicit MTR, but you’re still getting $ from government.  Grant is just declining at 21 cents/dollar earned.
ii. NOTE:  Unless you have a refundable credit, you don’t get 40% of households, since they earn less than $40,000

i. NOTE:  MTR facing low income people is actually pretty high

i. Implicit marginal tax rate encourages work at very low end, but fairly high disincentives to work between $23k and $32k.

ii. Add in payroll taxes, and it’s even higher

j. Need to include implicit tax rates in transfer system in order to really understand incentives

i. Welfare and food stamps phase out along with EITC

ii. For every $ you earn, you lose a net of $.70 if you include both EITC deduction as well as food stamp deduction

iii. Notch effects ( losing Medicaid at fixed threshold ($4,000 loss in government benefits from earning $1 more)

k. Empirical data ( EITC has substantial effect on work incentives of single mothers
l. Income and substitution effects for mothers

i. May reduce labor supply of married women with kids: Might work less, because every $ you earn, you really get $1.40

ii. Income effect ( have more income, so you can afford to work less

iii. Increases labor supply for single moms, since they get $1.40 for every $1 they earn.
III. Evaluating EITC
a. Currently costs ~$42 billion/year in tax revenue
i. Twice the cost of TANF
ii. Largest welfare program

b. Advantages

i. Phasing in ( Encourages people to enter workforce at lower levels: increases productivity (-40% MTR until ~11,000)

ii. Incentives to work in the market as opposed to government jobs

iii. Assumptions: positive externalities to work (neighbors, children) as well as -ositive internalities (increase self-esteem decrease depression)

iv. Lower administrative costs:  estimated 1% of amt. paid out vs. food stamps (20%), TANF (10-15%)

v. Less likely to buy out the base: food stamps don’t really affect food consumption

vi. Higher uptake than other programs (no stigma?)

c. Disadvantages

i. Phasing out Implicit marginal tax rate of 31%
ii. Might say inducing mothers to work has a negative effect on kids

iii. Non compliance from self-declared eligibility: less documentation necessary than other benefits; IRS only checks if they do an audit.

iv. Complexity: Who gets to claim a child when parents no longer live together?

v. False positives ( there may be people who are not making $$ but have assets to live off of 

d. Cash benefit vs. in-kind Discretion to recipient: More valuable to recipient to have choice, but eliminates externalities from in kind benefit

e. Annual lump sum: use it as a savings mechanism for large purchases

i. NOTE: few elect option to get monthly through employer

ii. Perhaps difficult not having access ot money throughout the year

f. Empirical Studies: 60% of all increase in labor supplies by single mothers in early 80’s and mid-90’s was from increased EITC

i. Increase incentives for single mothers

ii. Decrease incentives for married mothers

g. Highly politicized: Tax provision will last longer because of budgetary rules 

i. Transparency: putting it in the tax code usually means provisions less visible than other welfare programs

ii. Gets more bipartisan support (but less than social security) than other welfare programs

h. EITC in terms of 4 potential objectives of tax benefit:
i. Measuring income ( nothing to do with that
ii. Encouraging social benefits ( arguably encourages work
iii. Making tax code more progressive ( fits; redistributing to low income people
iv. Administrative reasons ( doesn’t simplify the administration of tax code standing alone, but looking on aggregate between tax and transfer systems this may be beneficial
IV. Other Deductions/Credits
a. §22 Credit for elderly and disabled (p. 421)– individuals who are 65 or permanently disabled may qualify for a credit of 15% of income up to specified max.
i. max. of $5k for single (or if one spouse qualifies) and 
ii. max of $7.5k for married couples where both spouses qualify
iii. max of $3.75k for married individual filing separately
iv. credit reduced dollar for dollar for any SS and Raliraod Reitredment benefits.
v. Base reduced by 50% of taxpayers AGI in excess of $7.5k for singles, $10k for married filing jointly, $5k for married filing separate
b. §25A Education Credits – pg. 422
i. Hope Credit - 25A(b) – up to $1500 credit for college tuition, non-refundable.  phase-outs  -single $40-80k, married $80-100k
ii. Lifetime Learning Credit - 25A(c) - grad. or undergrad, any time in life, 20% up to $10k, also has phase-outs
i. Coverdell Education Savings Account – up to $2k/year to IRA –distributions are excluded from GI – phased out between $95k-110k ($199-200k for married)

ii. §529 qualified tuition programs no income limitation
c. Personal Itemized Deductions
i. take deductions that exceed standard deduction – 
ii. §68 3% haircut applies to all deductions except medical expenses, investment interest, gambling losses and casualty losses (basketing)
d. §213 Medical Expenses – pg. 446

i. eduction for expenses – 7.5% of AGI floor
ii. also see 162(l), 35
e. State, local and foreign taxes: §164 ( see pp. 424-426
V. Charitable giving exceptions: §170
a. §170(b) Limited to 50% of AGI, 3% hair cut
b. not subject to 2% floor on miscell. Itemized deductions
c. corp. – limited  to 10% of taxable income 170(b)(2)
d. Measuring income ( maybe if we say someone giving to charity isn’t consuming anything.  
i. not spending on themselves (not consumption)
ii. Should beneficiary have to include in income as with regular gifts?
iii. Not transferring liability, because nothing is being taxed on either end
iv. Measuring income would require an exclusion/above the line deduction, rather than itemized deduction.
e. Encouraging socially desirable behavior: Positive Externalities: person who makes donation values the $, and the recipient also values the $100.
i. BUT Neg. externality: receipt of gift may discourage labor
ii. Subsidizing private redistribution: recipient needs less government benefits and perhaps private agencies could redistribute better

f. Is this well-designed to promote fairness/redistribution/efficiency?
i. Is there a choice (“either/or”) between government transfer programs and charitable deduction?  Can you support both?

g. Making it more progressive:  everybody who makes contribution to charity gets a 20% refundable credit on their contribution.
i.  Current system: 2/3 who don’t itemize aren’t getting any tax benefits
ii. Varying by income of ultimate beneficiary: more incentive to give to soup kitchen than to opera house
h. §170(e) ( Gifts of appreciated property to charity; In many instances, you get a fair market value deduction for giving appreciated property to charity
i. Never been taxed on appreciation, but you get to deduct it.  
ii. Limits: can only get FMV deduction if 
1. asset would’ve produced capital gains
2. giving to charity as opposed to private foundation
3. real property or tangible securities
i. Fraud in charitable giving: Used to be able to deduct blue-book value of car; now it’s just FMV ( taxpayers were over-deducting by 95%
j. State and local tax deductions cost about $46 billion/year
k. Big issue in AMT repeal

i. Under AMT, can’t deduct state and local taxes
ii. Soon it will cost more to repeal AMT than regular income tax: threshold goes lower and lower
iii. AMT bad for New Yorkers because we pay state and local taxes
VI. Taxation of the family
a. Prevent income shifting and rate arbitrage ( can’t shift income of household to lowest bracket person in family and deductions to highest bracket person
b. rules regarding how we tax income assigned to another family member.  
i. earned income taxed to erarner
ii. capital gains to person who owns the property
c. Innocent Spouse: Where there is an understatement of tax due to the omission of income or erroneous deductions by one spouse and the innocent spouse did not and had no reason to know of the mistakes, the innocent spouse is not responsible for the liability attributable to the errors. §66 relieves the innocent spouse from taxation on community income received but not shared by the other spouse.
d. Children

i. § 73 Child’s earned income: A child is considered a separate taxpayer so his earned income is not aggregated with the rest of the family for tax purposes even if it pooled to pay household expenses.
ii. §151(d)(2) exemption for dependent: If the parents are entitled to claim an exemption for the dependent child; even if they don’t claim it, child can’t.
iii. Kiddie Tax - §1(g): Net unearned income of children under age 14 is taxed at their parents’ top marginal rate (prevents income shifting)
e. Joint filing requirement for married couples

i. §1 has different schedule of rates for married people
ii. Creates possibilities of marriage penalties and bonuses
iii. Drucker ( penalties are Const, not a bar to marriage
iv. Can’t simultenously do 3 things:
1. progressive tax system
2. tax married couples with same total income the same
3. No marriage penalties/bonuses
v. separating taxes from other joint transactions might create tons of administerability/income problems

vi. marriage creates efficiencies (economies of scale), so married people have higher real income than 2 single people.
f. Marriage penalty/bonus Illustration (A and B vs. C and D)
i. Tax ate: 10% of first 10k; 20% of next 10k
ii. Taxing as one unit: A and B pay $1k more as married couple
iii. If we tax both couples $2,000, C and D would get marriage bonus
1. but if they stay unmarried, it’s a singles penalty
iv. Tax both couples at $2500 ( current law
1. A and B have marriage penalty
	Person
	income
	Single tax

	A
	10K
	1K

	B
	10k
	1K

	C
	 0
	0

	D
	20k
	3k


2. C and D have marriage bonus
g. Cohabitation bonuses: fraud?  Incentivize cohabitation?

h. Penalties fall more on couples where 2 people have similar earnings.
i. Marriage penalty puts higher MTR on secondary earnings
i. discourages women from working as secondary earners
ii. Goes hand-in-hand with not allowing deduction for child care

j. Progressive tax (10% tax on all earnings) would eliminate these problems
k. Same Sex Couples
i. DOMA doesn’t recognize same sex marriages for federal tax purposes
ii. Many same sex couples get tax benefits from this
iii. On net, this is probably a huge liability for gay and lesbian couples

1. health coverage: need to include value of health coverage for domestic partner
2. social security: no survivor benefit
3. estate tax: no exemption for transfers to spouse
Capital Gains and Losses
I. In General
a. Capital Asset is an important determination for two reason:
i. Preferential rate on gains from sale of assets
ii. Basketing approach for losses
b. Really NO intuition for what the standard is.  
c. Both sale and exchange are important

i. No capital gains without sale or exchange of property: compensation; cancellation of indebtedness, interest income
ii. Sometimes have to bifurcate transactions to separate out capital gains
1. growth value of stock example???  $2000 in income and $2000 in cap gains

2. stock with basis of $1k, worth $2k

3. employer buys from you for $3k

d. Distinguish from capital Income: interest income is capital income, but NOT capital gains.  Sale of depreciable asset is not always capital gain.
i. If you’re using a machine within business, it’s not a capital asset so no gains treatment, even though it might seem like capital gain since  you have to capitalize the machine

II. Mechanics: 1222
a. §1222 ( gain (or loss) on sale or exchange of capital asset

i. Short term capital gain/loss on property held for < 1 year)
ii. Long term capital  gain/loss on property hold for > 1 year
iii. ONLY LONG TERM CAP GAINS GET PREFERENTIAL RATES.

iv. Short term gains netted against short term loses, and long term gains netted against long term losses

v. Not long-term capital gain and net short-term capital gain are combined:

1. cap gains preference for amount net long-term gain exceeds net short term loss

2. If there are gains in both, net short term count gains as ordinary income, and net long term gains taxed at preferential rate.

b. §1211 limitation on capital losses
i. 1211(a) corporations have a basket approach

ii. 1211(b) basket approach plus $3000 loss limit for individuals
iii. If you don’t have enough gains to offset, you can offset $3,000 of ordinary income

c. §1212 ( carryover and carryback

i. 1212(b) Unlimited carry forward for individuals( if you have $6,000 in losses, you can carry forward other $3,000 for the future

ii. 1212(b)(2) ( Net short term losses offset ordinary income before net long term losses, so more net long losses gains carry forward.
iii. 1212(a) ( corporations have 3 year carryback and 5 year carryforward
d. §1(h) ( cap gains rates

i. If cap gains bump you into higher bracket, part of it is subject to lower bracket preferential rate, part to higher pref rate

ii. 0% tax bracket has no tax on cap gains; no preferential negative rate

iii. 5% rate and 15% rate

e. Corporations:
i. No preferential rate for corporations
ii. Can only deduct cap losses to extent of cap gains.  

iii. 8 year window: Can carry back cap losses for 3 years, but can only carry forward for 5 years 

iv. NOTE: basketing for corporation, even though rate isn’t different

f. Cherry picking problem ( realization requirement

i. Someone with big stock portfolio might have $100k gain on Google and $100k loss on IBM stock, sell IBM to realize loss without realizing Google gain.
ii. Cottage Savings makes cherry-picking easier

g. Larger Point: Complexity is all driven by realization requirement.  If we didn’t have this, wouldn’t have to worry about capital asset category in general
III. Defining a Capital Asset:  1221, 1222
a. §1221 ( every thing is cap asset until, it fits into exception

b. 1221(a) major exceptions
i. Stock in trade of the taxpayer, inventory of a business, or property held primarily for the sale to customers in the ordinary course of a trade of business

ii. Depreciable property or real property used in a trade or business
iii. Literary or artistic property held by creator

iv. Accounts or notes receivable acquired in the ordinary course of business

v. US government publications received form the government at a price less than that which the general public is charged

vi. Commodities derivative financial instrument held by a commodities derivative dealer

vii. Identified hedging transactions under rules provided in regulations

viii. Supplies regularly consumed by taxpayer in ordinary course of business

c. NOTE: 165(c) says no losses on sale of personal property (including personal real estate)
d. §1231 exception for depreciable property( if something falls w/in 1221(a)(2) (depreciable business property) gives you best of both worlds
i. “quasicapital asset” ( capital gains, but ordinary loses.

ii. 1231(b)(1)(B) ( excludes depreciable business property held primarily for sale to customers in ordinary course of business from 1231 treatment.

1. NOTE: Melott: “primarily” means “of first importance” or “principally” ( property held for development or rentals and sold when deal wouldn’t work was not held primarily for sale.

e. §1245 recapture: gain to extent of depreciation is ordinary income , avoids conversion of ordinary income into capital gains.
i. Theory: “pays back” earlier depreciation (but still benefit from time value of money)
ii. Rule  If depreciable property is sold for more than adjusted basis, any gain not exceeding total depreciation allowed is taxed as ordinary income.  
f. §1250 Real Property Recapture depreciation is recovered at a rate of 25% (lower than 35% but higher than 15%
IV. Capital Gains Preference Policy

a. Questions:  Should we have pref treatment?  IF so, what’s the rationale?  Is there any better alternative policy?

b. Bunching:  Gains from sale of capital assets may bump up into higher tax rate (no previous account of appreciation over time
i. Other solutions: 
1. flat tax

2. mark-to-market

3. income averaging ( average it over set period, or even holding period

ii. Cap gains is over broad ( doesn’t take into account timing of the gain.  

1. doesn’t always bump up
2. If you were always in highest bracket, no bunching

3. built-in preferential rate is tax deferral from realization requirement (time value of money)

c. Inflation ( taxation of nominal gains results in loss for inflation
i. Other solutions:

1. Consumption/wage tax ( like exempting yield; never tax gain on capital
2. Index basis to inflation ( we don’t inflation index basis
ii. Overbroad ( no relation to inflation rate or holding period
1. still get deferral of income until realization
d. Lock In ( cap gains compensates for lower incentives to hold onto property because of realization (deferral) and 1014 stepped-up basis
i. Cap gains rate May push you in direction of selling your appreciated assets

ii. Other better solution

1. repeal stepped up basis

2. repeal nonrecognition rules 

3. accrual taxation

iii. Small lock in from Preferential rate cut off ( may want to hold long enough to get cap gains rate

iv. Problems: May want to lock in and realized gains when overall tax rate will drop to get more preferential rate; doesn’t solve lock in problems created by stepped up basis
e. Raising Revenue:  Cutting cap gains rate has 2 offsetting tendencies
i. Less revenue: rate is lower

ii. More revenue: willing to realize more gains at lower tax rate
iii. Hard to disentangle long term effects from short term effects: not clear that if you cut rate more realizations will be steady over time

iv. Dynamic scoring ( will people save more if we lower cap gains, which would benefit economy (controversial method)
f. Benefiting the rich: Cap gains are disproportionately claimed by affluent
i. NOTE: sale implies they view self as better off

ii. May have more tax revenue in long run, because affluent will move money around more
g. Incentives for investing in risky assets?

h. Stimulating savings
i. Not clear if these rates will increase or induce savings

1. do people respond or are they target savers?
2. will depend on income and substitution effects

ii. national savings is both private and public savings; even if people save more on private basis, we have to balance this against deficits of government.

Non-recognition

I. Like-Kind Exchanges
a. A lot of corporate tax practice is organized around fitting into category to continue deferral of taxes

b. Like kind exchange rule:

i. ONLY property held in business or for investment

ii. NOT inventory or property held primarily for sale


iii. NOT for stocks, bonds, indebtedness, etc.

II. § 1031 exchange:
a. 1031(a)(1) ( No gain or loss recognized on exchange of property held for productive use in a trade or business or for investment if such property exchanged solely for property of like kind which is to behold either for productive use or investment

i. NO like kind exchange for personal real estate

b. Example: Ann’s building ($70k Basis; $95k FMV) for Vance’s building ($100k basis; $95k FMV)
i. If they exchange: Gain and loss are preserved

ii. If separate cash sales, Ann has $25k gain, and Vance has$5k loss

iii. Gain/loss is realized, but NOT recognized

iv. Like-kind property definition is arbitrary (livestock of different sexes is NOT like-kind – 1031(e))

v. 1.1031(a)-1(c) give more guidance; if you’re not a dealer, improved and unimproved reality are like kinds

vi. On exam assume business real estate is like kind

c. 1031(d) ( basis is maintained 

d. 1031(a)(3) Time Limits: 
i. (A) like-kind exchange must be completed within 180 days after taxpayer relinquished property

ii. (B) Property receive must be designated as such within 45 days after transfer.

iii. Contract may designate a liMited number of possible properties w/in 45days if particular property is to be determined by contingencies beyond control of both parties  

e. 1031(b) ( gain from exchanges no solely in kind is recognized to the extent of the “boot “nvolved
i. Recipient of cash recognizes the gain and pays ordinary income on cash (or FMV of other property no in kind)
ii. Payor of cash maintains basis and doesn’t recognize any gain

iii. NOTE:  1031(c) ( don’t recognize losses

f. 1031(f) ( related parties must hold property for 2 years to avoid recognition of gain/loss on original exchange
g. 3rd Party Scenarios ( Sandy wants to acquire Anne’s property, but Anne will only part with property on tax free basis
i. Have sandy purchase Vance’s property for $95k

1. Vance gets to recognize loss

ii. Sandy and Anne can swap 

1. Anne has no gain under 1031 exchange

iii. May run into avoidance problem if anne swaps with Vance and then he sells

Summary of Major Policy Questions
I. Policy points

a. Raise revenue for public goods

b. Redistribution

c. Correcting for market failures

i.  (externalitites)

ii. Subsidize positive externalitites

d. All taxes are distortionary ( efficient distortion if you correct for externalities properly

e. Challenges: equity, efficiency, simplicity

i. To some extent product of type of tax we’ve chosen

ii. How would alternatives solve these problems?

II. Challenges:

a. Implementing social policy through tax code

i. Economic regulation 

ii. Winners/losers, incentives/disincentives

iii. Alter distribution of income and people’s behavior.

iv. Some incentives are not on purpose ( marriage/singles penalties

1. exist, but not necessarily a social decision

v. Comparisons to other options

1. employer provided health insurances ( we’re losing $80 billion in revenue. 

2. What’s the best way?  Exclude Medicaid/medicare?

b. Valuation

i. Business vs. personal consumption

ii. Valuation issues

iii. Hobby exemptions

iv. Realization: can’t mark-to-market each year

1. Simmons case about 170 year old violin

2. Capital gains ( have to distinguish between capital/ordinary for purposes of losses to 

v. Tax shelters ( estate of franklin; wouldn’t work w/o realization

c. Managing complexity 

i. Bradford’s 3 types of complexity 


1. compliance: detailed rules and regulations

2. rule: law is unclear (substance over form doctrine is uncertain)

3. transactional complexity (bequests and life time exchanges carefully structured)

ii. interest deduction ( at first deduct all interest

1. tax arbitrage 

2. set of complex rules 

3. may have compliance complexity

4. may have rule complexity so people will only engage in transactions not tax motivated

iii. striking the balance between complexities

d. income shifting ( exists because of progressive system

e. dealing with non-market activities

i. taxable and non-taxable activity 

ii. roughly corresponds to whether there’s a market transaction

iii. imputed income exclusion implements this line

1. valuation

2. liberty concerns

iv. unintended incentives ( non-market production, gendered labor system

III. Evaluating the tax system

a. Are these special breaks or implementing reasonable policy goals??

b. Is the code too complicated?  Maybe some of the things that people call complex are good

c. Should we have a tax code at all?

i. Wage/consumption tax?

ii. Is income tax a better tax base than alternatives?
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